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Gjnpp unwlnud £ npnpwyh dl: Uyn wmbupny wjyl plnniGywo £ wlubty
nwptin: Lwuwywnpwunywdphg Yupjuwo wwbtnp jupdwl pwithnG t:
SwptinG wnwowlmd E Gymph pnnlwoph wjwuwmhly nhbnpiwghwih L
pwjpwjdwl wpnilpnid: Swptinugnjugiwl nng qnpoplpwgp wbtinh L
niltlnd wopwGdhwunniy ywjdwbbGtpnud:

‘Uymptiph Jpwliwl pnnp tnuluwylbpp L dubpp, npnGp hhiGwo GG
panGywoph fuptwl L wyl mw)tinh ypwodwb ypw, dpwliwl wil mwpw-
wmtivwlGtnl GG, npnlp npwlymy G0 dbunwnbbph uipnid mtpdhing:

Upwlping GufuwupumpuomywdpGeph dulibplogpGapp: Gunpiw( tnw-
Gwlny dywliwl plpwgpnid (wuwwywumpwunyjwophg ptpn wn ptpn hb-
nwgynmd E Gyuldwl hwdwp Gwuwmbuuwo pnnGduopn: Gupnn gnpohph
wnwohl wignuing Gwhiwwyuwumpwunywophg htinwgynud k Gpw Gjuinw-
JhG Ywytipuniypnp, nph htmlwlpny Gwuwwywnpwunyywoph Ypw wnwow-
Gnmu E Gnp dwybplnyp: Gpypnpy wlgnuing (GniyG Juwyd wy gnpohpny) Gu-
fJuwywwnpuwunywophg htnwgynd £ dtwmwnh Gpypnpn pGpump, huy Gpu
htim dhwupl’ wnwohlG wlgiwl dwuiwlwl (wuwwywwpwumywoph yYypw
wnwowgwd 2tpup: Gpypnpn wlgnidhg htinn Gwhiwwywunpwunywoph

Upwlnn dwlybplnyp

w) 9]

LY. 1.1. Upwlyny Gwhiwyuwmpuwumnywoph Ypuw dwltplngpltpp
w) 2powwnwnuy, p) nwlinnud
Ypw Ynyhl wowowlnud k Gnp dwybtplnyp:

‘Lwutwywunpwunywoph hno dtwmwnh ik wlgpp dpwlymd £ qujih-
UnGGtph dhongny: GwjhynGiwb dwiwlwly (whiwyuwnpuunywoph tjw-
YtwnwjyhlG dwytplniyphg htinwgynud £ vwhdwlGwhwl dwytiptu, npp hwjw-
uwp b qujhynGynn wlgph jwjlGuyh hwwmnyphl: Utnmwnh vt qujihynGh
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funpugiwl htmbwlpny (wuwywwmpuwunyuopnd wnwowlnid k Gnp qu-
(wlwl dwhtplnyp:

‘Luwuwywunpuunywopltinh Yypw qulynn wjl dwybplnypGbpp, npnGp
Wywlynud b6 gqnpohph htippuyub whgniGupny, Yngynd GG dpwfy/ng dwlb-
ployplGhp: Guuwywnmpuunmywopltph Yypw qubynn wyl dwlybplnyp-
(tpp, npnlp wnwowgly Gl qnpohph htippwlwl wlgnuiltphg htivn, Yng-
Umd G0 wlfuo dwlbplmyplbn

Upwlynn b Gywlgwo dwltplnypltph dhole dwiwGwywynpuwytiu gn-
Jnipynil mGtgnn dwytplnypp Yngymd & jmpdwl dwlhbplogp (GY. 1.1):

ConhwGng hwulwgnipymGakn ShnwnGhph Sywlsw
qnpopbpwugh Yhpupbnyuy
Uunpiwl gnpopGpwgn Yunpbih £ hpuyuGuglby, Gph Gwuwuyumpuuwm-
Jwopp L gnpohph Yupnn bqpp whplnhwnm mtnuihnfuytl dshijwulg Ghuwm-
dwip: Utnwnwhww hwunngh dbfuwGhqiGph  thnfuhwdwéw)Ghgyuo
ywupdnuiGtph dhongny, (Gpuwlg YhGEiwwmhy pnpuwlbnh jupdwlp hwiwwyw-
nwufuwb) dyuyynn GwhiwywunpuwunywopltphG b Yupnn gnpohpGhpha
hwnnpnynud £ dhdjwlg Guuniwdp hwdwdw)iiguwo mbnuihnfunipjniG:
CwndnuiGtpp uptih £ hwnnpyt) Gwuwyuwunpuunywophl b qnpohphG
thwdwdwlwy, hwonpnwpwp thnthnfubiing ngpulg wpdnwiGhpp, Jud
nnuwlghg dhwjG dtyhG gnpohphl Jud Gwhiwyuwumpwunywophl:
{wuunnglbtph YhGEiwmhiuwb vnbtnogwo b wjluybu, np oquwugnpdynn
dtfuwGhquibGtpp yuumwpnnuyuwb opquGitphl hwnnpymyd GG wunumwljul L
ninnudhq pwpdnuiGtp: Uju tipynt pwpdnudGtiph qniqujgiwdp npnpynud GG
Yupdwl dhongny dywlydwl pnnp hwjmbGh mbuwyibpp: Gupdwl plGpwug-
pnid hwuwnngh npll juumwpnquywl opquGh dhongny Juwd (wjuwwwwn-
puwunywophl Ywd qnpohphl, npybu Yupiwl quwynp pupdnd V, hw-
nnpynud 6 hwdiplpwg fuwi yununwlwl pwpdmuibtp, npp djnw opquil-
Gtph pwpdnuiGiph hwitdwwm, pGpwlmy £ wykh d60 wpwgnipjudp: UlGw-
gwo opqultph hwiplpwg Jud wyuumwlwl pwpdniGhpp, wiywh w)t
pwlhg, pt hGshG GG npulp hwnnppynid” Gwjuwwywwmpuwunyuwophl Jud
qnpohphG, odwlnuly GG L npnpmd GG Jwnnigiwl S pupdnuip: Uwnnigdw G
wpdmil wihpwdb)wm E, npytugh quwynp wpfuwmwlpwihl 2wpdniG
hpwgnpotim ppwgpnud qnpohph Yupnn tiqpp Gepfuph Gujuwywnpuun-
Jwoph Gyniph dk9, huy hwlynn ptpunp muptnh duny wiowwmyh wdipnne
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dywlynn dwybtplnyphg: Ukowdwuwdp jupdwb qifuwynp L odwlinuy pwn-
dnuiitinG ppwlywlwgymd t6 hnjumnnuhwjwg hwppnipniGatpny, vwfu)l
npny phwptpnd wyn pwpdndGhpp jupnn G0 Juwuwpdlp Gl GogG
hwppmpjwl dte: Gpynt mhwh pwpdniGtpl £ upnn GG (hG wiplnhwwm
Juw pnhwwn: Gppbd( dwnmgiwl Jupdnd( hppuwGwgymd ' pun gnpohph
Junnigyuwopwjhl wnwldGwhunympyniGitph: tw unwgymd £ qnpohph
hwonpnuljuwl wwnwdltph pwpdpnipjul dtowgdwl hwyhG (4qhy, Ghpuu-
nnipwhy): Liwl qnpohpGtipny wpfuwwnmbijhu hwuwmngh vkfuwGhqih thongny
hpwlywlwgynn dwnmgdwl Jupdnd sh wuwhwloyniy:

bnpdwl wpuwqmpymilp L dunnmgnidp: {wunngh Jumwpnnuijul gk-
fuwGhquGtph dhongny qifuwynp b odwlnuy JwpdnudGtph hpuww Gugiwl
dwiwlw]y Jwplnp E npuig pwlwjujui qGwhwmwuinp: CGnphhy wj)b
pwlh, np qfuwynp Jwpdiwl wpwaonipniGl wikGwutol b, npnyymd GG
Wywlynn Gyniph dto hwlynn tpnh phidnpiwgiwl ninnnipyniGl nt wpw-
qnipjnilp, pln npnud Gl mwptnh htnwgdwl ninnmepym GG nu dup: Uyn
wwwdwnny b qiuwynp pwpdiwl wpugmpymbpn hwlnhuwGmy b Jumpdwd
wpwgmpmGp: Ynpiwl wpwqnipjniln Juptih £ hwnnpnty hGywtu qnpoh-
phi, wylwtu b Gwiwwywunpuwunywophb: Gunpdwl wpwqmpjnilp plgniG-
Jwo k Gulwyby V - ny: Unwypujpl Gyuliwl duiwiwl wpugnipjub swth-
Jwl Shwynpp' & pny; Munnwul qiuwynp wpddwl nhypnmd Jupdwl
wpwagnipjul pwlwlulwl stonipjnilp npnpymu L Gwhiwywunpwunywo-
ph ui qnpohph thnfuwqgnnn Yentiph qowjhl wpwgnipjundp:

Uinmnmgmdp s (wytih dhyn’ dwnnigdwl wpwqmpinilp), duljuo
dwytiplnypph Guudwdp dhwynp dudwlwlynd jupnn bgph wmbnuwund-
dwl dhonpniGa6 £ dwnnigdwl pwpdiwl ninnnipjudp: Sppwwmwpvwl dw-
Jwlwy Yphpwnynyd GG dwnnmgiwl hbnlyw) tnuGuyGhpp” w) Gpluwybuih,
tnp Yuphyp mbnwpwpdynd £ Gwpwwuwmpuwunywoph wnwlgphl qniqu-
htin ninnmipjwdp, p) juyGwlh, tpp Guphyp mnuupdymd £ Gwuwywn-
puunywoph wnwlgphl mynuhwjwug nnnpjwip, q) pap, tpp Yuphgp G-
fJuwwyuwmpuwumywoph Guumdwdp mbtnuw)wnpdynd E npnpuyjh wiyjwl wnwy
(oppGwy YnGwlywl dwytiplnypltinh 2pgwwmwpiwl dwdwGwly):

Swpptpnmd 6" Gwjuwwwnpwunywoph d&y wumninp plpugpnid hpu-
Julwgynn dwnnmgni’ yupphsh hwpwpbpuul mbnw)wpdiwb dkonipjni-
Gp Gwuwwywwupuwunywoph by wwnywph plpugpmy b pnwbwlwl Gw-
wnnignid, wjuhlpG Yuppsh hwpwpbpwlwl wnbtnupwpdiwld dtonpynilp
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gty pnwybinud: UGy wunywhl hwiwywunwufuwl dwnnignoinp Gpw Guypgnid
Lt s - ny (defwyen), hull pnuytiwlul Swnnmgnidn' s, (dulanw):

U2Jwo dwwunnignuiGliph $hol gnponud L htnlgwy uwp' s = S, /n:

‘Lwfuwwywnpwunywoph jud gqnpdhph YpyGwyh pGpugphl hwdwwyw-
nwufuwnn dwnnignuip GuGwyymd & sy, (ddf/4.p), huy vl wnwdhG pGy-
(inn Swwnnignidp GuGwyymd s, (fdf / wnwi):

bumpdwl funpmpymG: Opwtugh ypwdwlyiwl hwdwnp Gwwnbujwo
ponGwopnp Gwhiwwuwwpwunmywoph dwibtplnyph Yypwjhg htinwgyh, wi-
hpwdb)wm t, np qnpohph Yunpnn tqpp Gipfupyh dtunwnh dte G)qwo pnnl-
Jwoph swihny: Uy ghiwypnud wiipnng pnnlGywopp Yywpydh gnpohph by wa-
gnuiny: Uto pnnGwopp Yuupynud t tphynt Jud wytijh wigniGbpny: Snipw-
pwlgymp wigiwl dwiwlwly dhnwnh dt9 qnpohph Ywpnn tqpp Gapfup-
dwlswthp Yngmd b fuopdwl funpmpymd, npp GpuGuyymd b tny, swhdwG
dhwynpp’ 4

UtinwnGtph’ jupdwdp Gyuljiul dudwluly, dhowdwuwdp, Jupdwd
funpmpynilGp ywiynn L Gwligwo dwybplnypltinh htnpwynpmpniGG L
Bwlyywo dwytiplnyphl ninnuhwjwg ninnipjudp’

t=(D-d)/2,

npntin D — G Wywlynn dwybtplnyph mpudwghoG t,

d— G Yyuywo Jwybplnyph mpwdwqghop (GY. 1.1):

QuwjhynGiwl dwiwlwly Yupiwb funpnipjwl swthp hwjwuwnp b quy-
1hynGh 2wnwynhG' D/2: dbpwqujihynGiwG nhypnid’

t=(D-d)/2,

npuntn’ D — G qujihynGh mpwdiwqhoG t,

d- G Guhiwwybu uyjuwd wigph mpuiwghon:

Bwlywwnwjhl phgtipdwl dwdwlwly pptgtipdwl funpmipynilp hwyw-
uwp L Yyuwlynn Gwuwwyuwwmpuwunyjwoph jwjlnipjubp, tpt wyG thnpp E
$ntigh mpwdwqohg:

UGuipwl gupmh wuwpwdbnpbpp: Gupiwl tnuiwyny dtnwnGhph
dywiwl gnpoplpwugl wywhnyynd £ Gwhiwyumpwumywoph b gnpdhpp’
thijulg Gyundwdp ntnupwnpdny:

U6 pwunpdnudp, npny npnpynid £ mnmwptinh wnwowgiwl wnwybjugni )G



wnwaqnipjniln, Ynyymd £ gifuwynp pwpdmd: U6 pwupdnudp, npny wwjwhny-
Unud k qnpohph Yupnn tqph wlplGnhwwn Gipfupnudp Gnp 2pnh gk, Ynsynid
bt dunnmgdwl pwpdnid:

Mwnwwnwjhl Gywliwl dwiwlwl quwynp Jwpdnidp (wuwwywn-
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5 : Ulp. 1.2. GpljwjGwyh 2powmnwdw b
w) [ I nliwypmy nw)tnh

hwwnyph swihbipp
puwunywoph wwnywb k, hu dwunngdwl pwpdnuip’ Yuphsh hwidplpuwg
wpdnuip:

Cpowunuwpuwl dwiwlwly Yupdwl ntdhdh wmwpptpl 660 updwi V
wpwaqmpjnilp, yuupdw@ t junpmpynilp L S Ywwnnignup:

LY. 1.2-md ppgwo vfjutidwymy, tpp D; mpudwqony Guuwuwumpuiuwm-
Jwopp wuunynid k. n (pmy ) powlwghl wpwgnipjwdp, Yuupdwl wpwagnt-
pjmlp YhGh

,n .
V= 1000 (W/pnwy b): (1.1)

‘Lujuwyuwumpuunywoph dhy wwnijnh ppugpnid Yuiphsh mbnupwn-
dp Yngymd L dwwnmmgmu: UjG upnn E hGh Gpliuw)Gulh’ Gwuiwywnpuum-
Jwoph wnwlgphl gniquhtn L jwjGwyh (wjuwwyuwwmpuwunyuwoph wnwlg-
phG ninnuhwjwg.

S = so/n (dui/uyn),
nputin Sp — G shwynp dwdwGuwynid Yuphsh mtinuwihnfudw G swthG t:
Uupdiwi pGpugpnid Gwjuwyuwnpuwunywophg htnwgymd E t hwuwmni-
pjwip p2tpw, npp Yngynid E yuupdw@ funpmipyniG.

t=DT_d(u"u):



‘Ujniphg htinwgynn Yupdwa 2tpup pnipugqpynid £ Shghjujub swathti-
nny’ hwumnipjudp (a) b wylnipjudp (b), jud wbhuGnnghwlwl swhtpny
s L t: Uyn vkonmpjniGGtph dhol Juwl wpnwhwjmynd t htinbjw] wpnw-

hwjmnipjniGGtpny.

a = s-sine, b =t/sing, (1.2)
wjuphlplG’ Ywpdwl ptpmp dup L swhtpp upugwo 6 hwwmwlwuqoh
¢ whlywul vhonpjnilhg:

Gupdwl wmwpptpp qujhynGiwd, hGywybtu L powwmnwdwl dudwlwy
plnipwqgpynid GG hwjwuwpwywth yununwlwl b nnnuqhd pwpdnudltipny

Dy Dy
t

-——

o 7>

D, /2

w) )

Ul. 1.3. Ynpdw i mwuppbpp
w) qujthiniiwl dudwGwy,
p) Yinwqujihyniiw i dudwlimy

(GY. 1.3): Munwywl pwpdnip, npp mpynd £ GwhiwyuwunpuunywophG
Juu quyihynGpd, qifuwynp pwpdnidd k:

Uupdwl wpwgmpinibp’ V-G, qujhynGh YaGunpnlGhg wikGwhbtnm Y-
wh 2powlwjhl wpwgmpiniG6 k, npp npnpymd L htnlywy Yhpuy
7D, n
1000

npwntin D, — G qujhynGh npudwqhoG k,

N —n' qujhynGh yuniyymGuph phyp’ 1 pnuytinud:

GuwjhynGiwlG dwiwlwly Yupdwl wpwgnpnilp thnthnfuwuwi db-
ompjmG k. Yupnn bgph mupptp Yenbpnd: GeGupnGh dnn w6 gpnyuyu k:

Uwwnnignuin’ s-p, qujihynGh mtnuihnfunipyniGG £ wnwlgpuwjhl ninnnt-

V =

Wpmyt, (1.3)
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pjudp, (pw by wuniyunh ppugpnid: GuwyhynGG nGh Gpynt Yupnn Gqn,
niuwmp vty Yupnn bgpp dwummgnudp YihGh' s, =S/2 duff wyun:
Gupdwl ptpnh hwuwmnipynilp quyhynGh Yupnn tgpp hwonpnujuG
nhpph wikGwihnpn htinwynpnipjniGa E Gpw dbl wunnjuh ghiwypnud.
a=s,sine =s/ 2/sine (Uu): (1.4)

Yuipiwl ptpnp b puyGmpniGp swihymd t qujihynGh Ywpnn Ggpp tp-
YujGpny" b =D, /2sine Ju:

Ul. 1.4-md ppJwo GG hwppmpjul pptgtipdwl vfubidwGbpp. ptiqhb-
nnud ninhn wnwdlbpny quubGuwluwi $ptqny (GY. 1.4w) b ppigipnid yunne-
nwlwjhl wnwiltpny quubuwywa pptqny (GY. 1.4 p):

hGyuytu tplmuy £ GY. 1.4-hg, dptigtipnidp pnipugpymu b Gpyne pwn-
dnuiGtpny’ hp wnwgph pnipep dptigh yunyyunny b Gwhiwwywnpwunywo-

Sz
1

/{ 5,
C—"7/
L

w

‘max

¥/ \3

1)
Lly. 1.4, Gqubulu pptgny wpfuwmwlph vubidwl
[-Wwlynn dwybplnyp, 2-wlwo dwytplngp,
3-yupdwl dwlbkplnyp
ph hwiplpwg wpddwdp: dptigh ywumumwlwl wpdnip quwynpl k,
(wuwywwnpwunywoph hwdiplpwg pwpdnuip’ dwwnnigdwl Jwupdnuin:
dbptigipiwl dwdwlwly Yupiwl V wpugmpymlp Jupnn tqph’ ptigh
wnwligphg wikGwhtnwynp Ynh whgwo dwlwwwph bty pnytind,
:M, Wpnwy b (1.5)
1000
bphgtipdwl dwdiwlwy (hGnd £ tpkp mtuwlyh dwnnignid.
w) pmybwlpol dunnnignid ppbgqh L Guuwyumpuunywoph hwpupk-
puywl mbnuw)wpdh dtonipyniGp vty pnubnd (Sy d/pnw k),
p) dpbgh bl wunnipmp duwmnignid dptigh L Gwhiwyuwunpuunywoph
hwpwpbpuwl ntnupuwndp Sptigh vEY wwniyymh pGpugpmu (So df/iymn),

8



q) ppbigh UL wumwdh dunnnmignid ” Hphgh L Gwpuwwyuumpuwunywoph
hwpwptpwlwli nmtnuywnpdp dptgh dhy wnwdh wilyjwl nwl yunyymh
nGpwgpni (S, du/wn):

UwunnignmiGtinh dholt juw G wpmwhwjmynd £ hbnlgyw) hpy.

So =Sw/n dym, S, =So1z =Sy Nz d/wnw :

GnpoGuwlulnd G)qwo pnnp dwnnignudGinp hpwneth G6: ULy wnw-
dhG pGyGnn Jwnmgnip pnipugnmud b wnmwdh Ypw pGylng owlpwptinG-
Juwonipjwl nidqlmpynilp, himbwpwnp W bptgh Jujnilnipynilp:

Uunpiwl funpmipymln’ t-G (Jd), yupdwG wnbnh Gpupnipjul Ypw
Jupdiw ptipump swth( £ dpwlyuo dwytiplngphl ninnuhwjwg ninnnipjudp:

dbptigh b Gwhrwywwunpuwunywoph hydwl YaGupnGuwlwl y wiyntn
npnpynmd £ htinbgw) puGuwalng.

0051//:1—2—[;{: (1.6)

Gqubwywi $ptqlbpny ppighpnid Juumwpynd t bpyme duny (GY. 1.5).

w) hwlnhyuwyuwb $ptqtipnud, tpp ppbgp yuounyma b Gwjuwywnpuun-
Jwoph pwpddwl hwjwnwly nunnnipjudp, b wyn ghiypnd pptigh jnipuwpwG-
sjnip wwnwih Ynnihg hwGjwd 2tpnh hwumnipnilp 0-hg nunGmu L amgy (GY.
1.5w),

p) hwdplpwg ppbqh-
pnud, tpp pphgh yunndwb
ninnnipjnilp hwdpGyGnd L

(wppwwywwmpwunywoph
owpddwlp nipnnuywG hbn,
L wjn nhwypnd  pptiqh
Jnpwpwlynp wwmdh Ynn-
uhg hw6jwo ptpnp hwu-

Uly. 1.5. bpbiqtptwt ujubtwG  MPPINLOR Amachg nuinGd
w) hwlighuywlwb, p) hwiplpug £ 0 (Gl 1.5p):
{wynn 2tpnp a hwu-
nnmpjnilp tpym hwonpnuyul wwwdlbph nhpph htnwynpmpyniGa L

wnwynuwjhl monnipjudp’ Jupdwl hwppmpjull nmnnuhwjwg: amax N
hwpyymd £
Amax =S, SINY (1.7)



Lwlh np

. 2t
smyzz,ll—coszyz,cosw:l—s, (1.8)

: /t t2 /t t2
Slnl//=2 B—E, amaX=ZSZ B—F: (19)

Lwlh np quubtwyuli pphgtipdwl dwdwlwly dptigh wnwdp Gwjuw-
yuwunpwunywoph htinn hynuihg nnipu quint dwdwlwl nmwptinh dwltptup
Yupniy hnthnjuynud k, $ptiqipnidC pGpwlnd k ny vwhniG: UwhmG pphqb-
pnud wwwhnytyne Guuwwnwyng wlhpwdtywm b, np Gwupwywnpwunyuwoph
htin hyydw @ k9 qunGytl $ptigh wnGywqb 2...3 wnwiGhp:

Juu

Swtmugnjugnuip dtmwn Gtnh Yupdmb duniwGul:

UtinwnGtph Yupdw6 gqnpopGpugh bhahjuljwl pnypp funpp wiwu-
mhy phpnpdwgdwl gnpoplpwgn L pwjpwynmil GG, npnlp plpwlnd GG
Jupnn utiyh wnolh dwytiplmph htin mwptnh L qnpohph htimhG Ghunh htiin
Yupiwl dwytpunyph 2thdwdp: Upgnilipmd’ owfuujwo dtuwGhulywd
LGtpghw( Yybpwoynd L otipdmpjw, npp, hp htipphG, dao wqntignipyni k
niGtlnd Yupynn ptpnh pidnpiwghwjh oppGwswthnipjwl, Yupdwl nidh,
qnpohph dwdwl L uyniGnipjwb ypw:

Uupdwl dwdwlwly wnwowgwd mwtinp wpnyniGwptpuuwi pwthnl
E, npG db9 wdthnthmd L jupiwl dwdwlwl wbnh nilGtgnn phghyulwb
tpunypltph hhdGwywl nbtntuunynmpmniGl n gpuig Juwhujwonipnilp
Yupdwl gnpoplpwgh wwjdwlltphg, npnlp pGnipugpynid GG dpwlynn
Gyniph hwwnynmpmGGtpny, qnpohph tpypwswihnipjudp, jupdwl ntdhd-
(tpny L wj] wpwibknptpny:

Uwnmjng pbmnh nbpnplwghwl wqunn inpdwl dwdwlwl: Cun nnu
ghwnlGwlw6 b.U. Shdth (1870p.) nuuwlwpqiwb, Yunmgywopwjhl wnn-
yuwwbltph fupiwl dwdwlwl wnwowgwd wmwptinltpp, pun wpunwphb
wmbtiuph L GtpphG Yuquinpjwl thGnd GG sgyipnhynn, mwppwjhl, hnquyhG L
upiwo:

Quipnhynn wupbgp (GY. 1.6w) smpnhynn dwwwybG b, npp, juujwo
qnpohph wnolh Ghuwmny htnwgdwl wwjiwbhg, Jupnn L (hGh nnpn,
wuninwyuwjhl Juwd pwnuwjhG Yohyh wmbtupny: Guphsh wn9lh GhuwnhG
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hyJwo mwptinh YuphywyhG ynndh 1 dwybtplngpn hwpp b thwymG k, huy
wpuwphl 2 YnnuiG niGh thnpphy, hpwp hwonpnnn wnwiGhnh mbup: Sw)b-
nh jwjGwyh hwwmnyyph dup b ywthtpp mw)tinh wipnne tpwpnipjwdp hwu-
wnwwnntl GG, npl wnuhuh mw)tinh wnwowgdwl pGpuwgpnid nhidnpiwghnl
hwunwwuntlnipjwl YywynipyniGa t: Quupnhynn mw)tin hwinhwnud k& wjwu-

w) 1] q) 1)

Ul 1.6, GYinpdw (i dwdwlwl) wrwgwguo mwplinh ntuwlyibpp
w) gnpnhynn, p) wwppaghl, g) hngwght, ) gwpmpjuo
wmhy Gymptph, hhiGwwind wjuwumhy dtnwnltph pwpép wpuwgn pjudp
Jupdw(, thnpp L dhohlG dwmmgnmiGtpny, hGywybtu Gul gnpohph npuwb
wnolh whljwip updwl nhwypbtpne:

Swppuyhl muwpbgp (GY. 1.6p) Juqigwdo £ dtnwunh wnwGahG 1 wmwp-
nbphg (YunpGbphg), npnlp hpwp htin juwywd st Jud pwwn poy) Juy-
Jwo Gl mwptinh YupphswihG ynninyg: Ujn niypnd mmwptinh jnipupwlysjnip
wnuwpp hp dlwgnjugiwl pGpwgpnid tpwunpyynid £ npnpwyh nhpnpiwgiwb
L, Wyuyynn dtnmwnh GuitwmwihG upopnpjwl hwdtdwwm, 2...3 wiqud
wytih juwpopwlnud: dpw htnwlpny Yupynn ptpup, wlglbmny wjuybu
Unsgwo htipddwG (uwhph) mn dwybkplngpny, YnpgGnud £ hp wnwédqujune-
pjnln L npnpwih ywppbpnipjwdp pwjpwjynid: Swppwjh G mw)tinG wnw-
owlnd k thjupnmG dtmwnlbpp Yupiwl dudwlwy (pnig, wpniyp L wy),
hGswbu Gl wjwuwnhy dtwnwnlbpp ny 160 wpwgnipjwdp Yuptihu, thnpp
wnolh walyymGGatpp, Yupdwb tpnp o swthtiph nhwypnd, pupdp yunpo-
pnipyniG  nilGtgnn dtwmwnGhp fupbhu b yupiwl wjluyhuh guwydw6Gtph
wnjuynipjudp, npnlp ndupuglnd GG yjwunhly nhbnpiwghw:

npuyghl mmwpbgp (GY.1.6q) wlgmiwjhG E wmwppulwlhg nhyh w-
pnhwwnp: U6 punugwo t ppup htn juuyywo wnwldhG 1 hnnbtphg:
Uynwhuh wmw)tn hwdwju hwinhymd £ pwupdp (kghpgwo ynnuuwnGbph L

wmhnwlwjhl hwdwdniwopGtinp Yupiwl dwdwGuly:
11



Luwpnywo mupbnp (GY.1.6n) juqiyuwo £ wnwGdhG, hpwp htn sjuw-
Jwo dwulhlyltinhg, npnlp niGhlG mwppbip swihtp b dubip: U6 hwGnhwynd &
thfupniG Gyniptiph Juwd wjGuyhup dtnwnGbph yupdwl nhwypnid, npnlp gnp-
Ohph wnolh Ghump Ypw hwlgwso th juysnnuluwlinpyjub: Uy nhypnid db-
nwnh wnwldhG YunplGtph gupnnuip wmbnh £ nGhmyd ma dwytplnypny,
nph nhppp hwdwju hwjmbGymd L jupdwl hwppmpiniGhg Ghppl:

Gupiwl duiwluwl mwpbnugnjugiwl ufutidiw@, npl wnwownplyty tp
b.U. Shuth Ynnihg, htimwqujmui qupqugptg G.U. QynppyhGp (1893p.),
huy wpnmwuwhdw Gnd wyn vubdw Ypyatg M. Merchant-p (1945p., UWUL):

Stuwluwl L thnpdGwlywl htnmwgnunnipyniGGiph hhdwl Yypw www-

¥
AR /
[ \WX /
T SN BN
Ry N\ ANV ’
RGN AT BN/
1 L1 L
L9 \ i
7 IR'ARAW!
— 5 | .
3 |HE!
—/ REES

P

LY. 1.7. Unnphlwwmwghl gubgh (w) 2ngnuip b mwptnugnyugiwd (p) ufubidw,
npp plinpnzhy L dhypnwpwgmpymGibpny Yupbihu
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gnigyty k, np Yuupynn pnnGdwoph L wwptnh dhol gnympjnil niGh wlignt-
dwjhG qnwh: OpphGwl pwpdp wjwunhynpjul dtnwnltpp (ynhGad,
wnnyn) thnpp Yupdwl wpwqmpniGGipny Yupbihu, pun pwdwGupun
guigh 2wl (w)l Gowqdqwd bt Yupguwoph YnnwjhG dwibtplngph ypu,
(y.1.7w), wywgnigyty & mwptnugn-
Jugiwl ubywdal gnnne qnynipjnilp,
npG mGh OL uygpGuywG L OM
JtpoGulywl vwhiwGGhpp (GY. 1.7p):
Guphsh wnp9lh dwumd wjwu-
wmhy nibnpdwghwl vjuymd L Ynpw-
qho OL uwhdwGhg, nph nhppp npn
1 nhyptpmd  hwjnGymd L GmyGhuy

Yupdwl hwppmpnilhg Ghppl: Pw-
dwlwpwp guwlgh tnwonipjwd,
hGswtu Gl Ywpynn pGpnh Yhnt-
pnd dhypnupopnmipjmGGtph swihiwl dwlGwwwphny hwyduwpyuo nb-
dnpdwghwjh e wunhdwlGp OL qohg ntiwyh OM ghop uyqpnid wdnd Lk
nuinun, wyw AOM gnuind, dto wpwqnpjuip (wjuntn OA-G uwhph

Ul 1.8, Swptinh hoydwd ufubidwi

wwdwliwlwl hwppnipyniGG t, npp mwpjwo k Yuphsh O ququphg dhGsk
(whwywupwunywoph L nmwptnh wpmwphl dwytplngplitph hwndwa A
Ytnp):

Muwunhy nhpnpiwghwjh dwuhlG hdwgnmipymGG wGhpwdb)m t qnp-
Ohph Yupnn utiyh nidwjyhl L eiptwyhl ptinGwonipyniGGtph, hGswtu Gl
Yupiw gnpoplpwgh wpnwnpnnuijunipjuwl hwpupyuwb hwiwn:

OnnlJwopp Yunpbihu wmbnh L niGhlmd Yupynn 2tpnh hwunmwgnid,
thwdwdwlwy Gl Jupdwgnd (GY. 1.8): Nuwp, tpt plGnmiGhGp, np
Yupynn 2tpnh L wwptnp Gyniph dwjuGbpp hwywuwp GG, wjuhGpG alb =
aglib;, wyw b = by -h niypmd

K=/, Ky=aa, Ki =K, (1.10)

npuntin K| - p mwpbtnh joydwb (yupdwgdwb) qnpowlhgG t,

Ka- G wmwptinh yoydwl (hwumwgiwl) gnpowyhgn:

Suptinh YoyuwG gnpodwyhgp GruGwyymd k. K mwnny wnwlg | hG-
ntipuh: Unynpwpwp Joydwl gnpowlhgp K > 1, hul pwpép wpuunmhyni-
pjwdp dhnwnGhph Quidw dwdwlwy wjG upnn t 1hG shGsk K > 10:
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K

3,6
28
2,0
1,2

2,0

14

Swtinh oyuwl gnpowlygh Ypw dho wantgnipjnil niGtl wnoluh y wa-

nilGp, yuupiwG V wpwgqnipjniGp b Gyuliynn Gyiph Shqhyuw-vtuwbGhyw-
Jul hwwnympnilGbpp: Gupdwl t funpmpjul L S dwwnnigdwl wqnptignt-
pjnilip mwptinh Yoyuwb qnpowygh Yypw sGshG t:

‘Llhwp 1.9-nid pipdwo E jupdwl nupwph ywpwdtupbph U jupdw
wuwjiwGGtph wantignipyniGp nmwptinh Yoyuwl qnpowlgh Ypw:

\

N

=-10

-~
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200

w)

400 600 800

v,ipmyk
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0,9 s, du/uwn

L. 1.10. Uwlwéh wrwewgdw

uputidw

K /
6 7
2
4
1
2 AN
. _____)—“'
40 50 60 §°
P

LY. 1.9, Ynpdwl pupmp wpupudbnptph
wgntignipnilip mwtinh Yoyuwd Ypw

w) Yupdw b wpwgnipywb b Yuphgh
pypwgwthmpub wgnbgmpmip
wnnujun 45-h zwliwd dwdwliul
(=21, s=id/uwn),

p) Yupiwl wiljub b LLL-h wgntignpynilip
wnldp dzwldwl dwiwlwl (1-L4<4-ny,
2-wnwilig LL<L-h),

() dwunmgiwl wgnbgmpymlp

blswytu wpntl Gygtg, Yoynuwip
plnipuwgpnid £ jupdwl  dudwlwly
Gymph nbpnpiwghwih  wumhdwp,
wjuhlpl’ Yyupdwl qnpoplpugh pw-
JuyuwGhl hwdwyhnwbh suthwbh)
Puguuwwl wnolh  wlyymGGtph
nhwypnd GoyndG wybtih dko t, pwl
nwiwl wnolh whlymniGGtph nhuypnid
(GY. 1.9w), punmpwhnjuglnn htnniy-
Gtph (<L) Yhpwniwl nhypnd nw-
otinwhwliwl gnpoplpwugp  hbpnw-
Gnwd L (GY. 1.9p), pwpwly wmwbnlbpp



(thnpp s dwunnignuiGln) wwhwlomd bl nhbnpiwghwh ko nbhuwlwpunp
nudtip (GY. 1.99):

Uwljwéh gnjugnuip dtwnwnGtph fupiw6 dudwGuy:

Uh jwpp dwwGtph, hwnjwuybuy wouwolwihl wnnuuuwmbtph
Jupiwl dwiwlwl qnpohph wnolph Ghunh Ypw gnjulmd L ubywdl,
swthwquw(g Jupop dwlywd, npl, pun Enipjwl, Yupnn ubwyh pwpneGuwyne-
pjnill E: Uwlwdl twlwl wgnptignipynil L niGhlnid jupdwl gnpoplpwgh
(ntpnpiwghwyh L nidtiph),hGsybtu Guwl qnpohph JuyniGmpjulG L dwyk-
nunyyph wihwppnipyniGGtph ypw: CanmGJwo b, np gnpohph wnelh Ghuwmh
Jpw dwjwdl wnwowlnd £ Yupdiwl gnuunt npnpuyh jupjwo yhdwyh
ntiypnd jupynn dtnmwnh wpqbjulwo ptpmnhg: Uwjudwgnjugiwl dw-
dwlwly nwpbnn mtnw)wnpdymd £ ny pt qnpohph wnolh Ghuwnny, wjp dw-
Jwdny, nph gnyugdwG ophGultih ufubdwl yuwumytpwo k Gywn 1.10-nwd:

SwptinGtph wpiwwltph numdbGuuphpnipynilp gnyyg E wmwihu, np dw-
Judp Jujuymd L gnpohph htinhG dwytipnyph wwly, mGh 2Gpumuynp Ju-
nnigguop b Yinpuymb ququpbtp (G4. 1.11): Uy nhiypmd qnpohph wnolh v

LY. 1.11. Uwywaéh urnguoph ufubidw LY. 1.12. Uwwéh pwjpwjiwl ufubtwb
wyynilp dhowlmy £ nunbwny thwuwnwgh v, wnobh wblyyniG, wjuhGpG'y,,>
v: Lwunwunywo b Gul, np dwiwdl wdpnnowwbu Juynb ptpu sk Mwppb-
pwpwp Gpu YtphG 2tpntpp hwdwpymd GG, L dwjuwdl wdpnnowwtu jud
JwulwyhnptG pwjpwyynmd £: Gupdwl dwdwluwy dwjwsh ququpl holmd k
YupiwG qohg Guppl, nph htnnlw Gpny Yupynn 2tpnh hwummpyniGp wijw-

15



Gwlwlhg vto E Ao swthny (ntu GY. 1.11):

Uwlwdh pwjpwjiwl dwiwlwly Gpw th dwup Ghpfupynud £ duliuwo
dwltplniyyph dhke, Wyniu dwup htnwgymd mw)tnny (GY. 1.12): Unolh Ghu-
wh Yypw dwliwdh Jusnnujul mdp pwjuwlywbhG dko E: Upnymbpmd hw-
Gufu Guumynid £ upop hwiwénywopt qnpohph pwjpwynid: Uiy wyuwn-

H, Gunny funphnipny Lt wmpynd
utgr Jupop hwdiwdnywopt gnp-
400 \\ OhpGtinG oquwaqnpoty Ypunp-
{ \ dwl wjlwyhuh ntdhiGtpnid,
200 \ tpp dtunwnh jupiwl dwdw-
N (wly Jwjwdwgnjugnip puw-

‘\\\ gunynuid  L:Uwwdh swithtiph

0 20 40 60 v, wpmyt  Unw hpdGuljuGnud wnmi GG

dywlynn Gmnph dhfuwGhlw-
Jul hwnympmGGatpp, Ypunp-

ynn 2tpmh  hwuwnnipynilp,

LY. 1.13.Uwwdh H pwpépnipjub Jupujwonipynip
Yuipdwl wpwgnipjnilhg

wnoLh walnilp L Yhpwnynn LL<-tpp:

Utdwdiwuwdp dwiwséh wnywjnipjul nhiypmd Gymph nhinpiwghwl
pipwlmd £ «itio wnolh wGljnibny»: Gupdwl dko wpugmpmbGatph nhw-
pnid dwlwd sh wnwowlnd (GY.1.13), huy otpiwumhdwlh wqnbgnipjulp
Jwlwdl wipnnowwtiu nuninmd L wjuwuwmhl Yuphsh wpolh dwumd wnw-
ouglbtny pwpuwl 2tpun:

Uwljwdwgnjugiwb gnpoplpwgh nuunmdGuuhpmpjniGlGtpp hhdp Gl
nwhu wnwownlty Gwl Gpw ntd Wwjpwpbnt dwliwwwnhGtpp. thnthnjuby
qnpohph tpypwswihmpynilp, ophGwy dhowglt] wnolh wllyynilp, oquw-
qnpoty L£4<-bp, wpuwwnb] jupiwl pupép wpugnipniGGbpny, Juwmwnpty
qnpohph wnelh dwltiplnyph Yhujwhnynud b wyiG:

Uunpmim] duljwd dwytplmpuyghl ztpmh npulp:

Uowyywo dwytplnyph npuwyp npn2ynd £ funpnnipnpnmpniGGatipny
(SphypnuGhwppmpymGatph pwpdpmpjudp) b Jwytplnmpwjhl ytpnh wnp-
JwowjhG Jhdwlny:

Uquun Yupiwl dudwlwl dwytplnyph funppmpnpnnipjniGGtph Jpu
hhiGwyulnd wgnmd L dwiwdp: U6 wpuwgqmpymGitpnd, npnbn wnfuw
dwwdn, funppnipnpynipyniGGhpp puduwulh ko 66 L juuduwo GG dwljw-
16



6h H pupdpnipniGhg: Uwlwsh Ytipwgniihg htinn shypnwGhwppmpyniGatph
pwpdpnipjniGp upniy Gugnud t:

Uupiwl V wpwgmipjul waptignipyniln Qulijwo dwybtplnygph R, funp-
nmpnppyniGGhph ypw pipdwo k QY. 1.14-nud:

UjG Gyptinh hwdiwn, npnig Yuupiwl dwiwlwl dwwd sh qnjwlnd,
Jupiwl wpwgnipjwl wéh niypnid Ynpp Shwpwp Gugnd E: UG Gynplph
hwiwnp, npnGg Yupdwl dwdiwGwl gnjulnd L dwlywd, dwytpunyph R,
funpnmipnpmpyniGGtph  thnthnfumpjulG wwwnybpp Gdwl £ dwywsh H
pwpdpnipjwl thnthnfunipjuGp (GY. 1.14p): Gupdwl wpwqnipyniGGtph

\

w) r

LY. 1.14. Upwljuwo dwlybplnmyyph funpnmpnpnmpimbibph R, pupépmpjud gpu
v wpugmpul wynbgnipyul ufubdwd, Gpp upynd

w) Gynip,npp hwygwo 3k dwlwudugnugdw

p) Gynip, npp hwlwd b dwudwgnjuguwi

V...V, plingpynypnid, tpp dwiwdép dhkowlnd b, shwdwiwlwy wimd GG
Gwl R, hunppmpnpnnipymGGtpp: UpwgnipymGGatph V,...Vs plngpyniypnud,
tpp dwlwdp thnppwind b, hwiwywunwufuwlGuwpunp Gugnd GG Gub R,
funpynipnpnipym GGhpp:

Ny wquun Jupdwl dwdwGuy Huijuwoe dwytplngpp dlwgnpymyd L
hhiGwlwlmd odwlnuy Ywpnn tqpny, huy quwynp Yupnn GapG wyn
gqnponplpwghl dwulwlygnmd L Yuphsh ququph dwunwd junpnn tqph ny dho
hwwnygwony (GY. 1.15): Nunh wlgndwjhG Yuphyny pppwmnwbihu funpnnt-
pnpipjniGGiph mbuwwl pupdpmipynilGp npnpymd £ Yuphsh ququph
tpypwswthnipjuwdp b hwpgupyynid htnbyw) Yepy.

1) Guppsny dpwytiihu, tpp ququph punwypnp’ r =0 (GY. 1.15w),

S
=—: 1.11
z Ctgp +ctge, ( )
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2) Yuphyny Swllihu, tpp ququiph zwnwyhnp ro# 0 (GY. 1.15p),
R, =(1—cose )r +ssin pcose:: (1.12)
3) UwunnigdwG thnpp wpdbpGtph nhypmd (s < 2rsing), tpp JuipnudG
hpwgnpoynud £ Yuphsh ququph Yinpugywo dwuny (Gy. 1.15g).

R, =r—05v4r? —s® =s?/8r : (1.13)

Gpt uwjpwjhl gnpohpny mwptnuhwliwb qnpoplpwugp YtpeGudpwly-
dwl owbtpwghw b, wyuw Gwuwwywwpwunywoph dwitplompwhG ptp-
nnmd jupjuwowjhG yhdwyp npnpynmd L Yuwpnn ubwh htimhG Ghunh Jpw

N S
24
P,
4

N S
24
@
! ¢
s x
% Q

Ul. 1.15. Unppsh quguph duh wgnplignipnilp
vhypnwhwppnipynilGtnh
R, pwpépmpjwi Jpw
UnGunwlunwjhl qnpoplpwgltpny: Lwhwwywnpwunywdoplbtph twytpln-
pwjhl 2tipnh yhdwyh gniguGpGtin 66 dwywynthywopwjhG 2tpnh dwljw-
ynthywoph iy wumpwbp b hy,y funpmpymGn:

Uwyuwynthywoph wnwowgniip puguwwmpynid k Gwuwywnpuwunywo-
ph wnwdquuwl wywumhy nhdnpiwghwjh wpnyniGpnid Gnp dwybplnyph
unwgdwl dnnbih wupgtgwo vfubdwjh phnwpydwdp (GY. 1.16w): Gupnn
ubiyp hpwyuwlnd niGh p Ynpugiwl pwnwyhn: Lwfuwwywwmpuwunmywoph'
A Ytunhg pwpdp qubynn tpnbpp hinwlnd GG npuybu wmwpbn, huy A Yyb-
18




nhg gwop ptipnbpp Gapwplpynud jpugnigh; wnwadquijwl ntpnpiwghwjh,
nph wpynilGpnid Yuppsh htinhG Ghunph wmwl ntinh £ nGEGmd Gulyguo
dwytplnyph wnwédquub yepwyubqbindp h,, suthny:

‘Llwn 1.16p-nd pipjwo E Gwjuwwyuwwmpuunmywoph funpnipjudp dhy-
pyuwnponnp niGGtinh tuyynipn:

Uwlwynthywoph wumhdwlp npn2ynud £ htnlyw) hwpwpbpnipjwdp.

iy =HVy/HVy, , (1.14)
npuntin HY 5, - G GwltinlngpwjhG 2tpnh shypnyuwnpopmpyniGa t,
HV,, - G Gyniph GpuytinnwghG YupopnipymGp:

HV sy
: o
5 <
A < UM
. GrulybuwhG

P

w) LY. 1.16. Uwbtplnyph dbwynpiwl ujutidwb

Gupnuihg htinn dGugnpnujhl jupnuiGtpp dwytpunipuwjhG ptpmh fun-
pnipjwdp pun dkonipjwl b Gpwlng wlplnhwwnm thnthnfuynid GG:

Qnpohph dwpdwl wép phpmd L dwwynthywoph iy wumh&wbh U hy,
funpmipjul dhowgiwa, dhGsntn yuupdwl V wpugnipjwl wép phipmu L wyn
dtonipymGGtpp thnppugiwG:

Uwnpnn qnpohph dwpnwdip b YuymGnipynGp:

Uupnn qnpohph dw)nmuip Gpuw wnelh Ghunmh htn wnw)tinh L htimhG
Ghunmh htmn yupiwl dwytpunyph 2thwl wpyynlpl E: Uwynudp pujw-
JuwGhG pwpn gnpoplpwg b, npl pGpwlnid E hyydwl gnunmd pwpép pinGyw-
onipynGGtph U otipdwuwmhdwlh wwjpdwlitpmyd: UbpbhGuwdwutph pthdw6
hwitdwwm, jupdwl dwdwlwly wtuwuwpwuwp aGynip 300...400 wlqud,
huy otipwuwmhdwp 15...20 wlqud wybtih dko GG: Swupptipymd GG gnpohph
dwpdwl snpu hhiGwlwl wmtuwylbp. 1) dbuwihyuyub (hnyudwphy), 2)
wihtiquijht (hwpuwhgwlwa), 3) phpnighnG, 4) phihwlwé (opuhnugtnn):

UtfuwGhljuwlwlG (hphwiuwpfs) dw)nudp  jupiwl dwdwlwl ntinh k
niGtlnd qnpohpwlyniph b Bpwlynn Gyniph dk9 quliynn Yupop dhwgnip-
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JnGGhph pthiwl wpyniGpnd” gnpohph wnglh L htinhG Ghuwntipny:

Unwyby hwdwfu dtfuwGhjuuwl dwynidl h hwjum L quihu wpwqu-
hwwn ynnuuwntb qnpohpltipny wuwwmbihu L Guwntih £ qnpohph wnolh L
htimhG Ghunbph ypw fuwqbtph, winuGbnh b wy shypnwGhwppnipjniGGtph
wmtiupny: Uytih phy wyl Guwmynd £ jupop hwiwdnywopt qnpohp Gtph
Upw, pwGh np npubp wybtith Yupon 66 b dwpwlwniG:

Unhbghuyht  (hwpulguiut)
dw)nudp wnhbtghnG nidtiph wqnbgni-
pjwl wprynilp £ Gnp wnwowgwd
nwtinh nt Gwhiwywnpuwunywoph
dwltipunypltph nt qnpohph dwyb-
plunypGtinh hwdwwmbn thdwl hb-
nlwGpny  Sheunikynijup  mdbph LY. 1.17. Gpym dLuL]b.[lthl_]pﬁh]lh hLL]I]le.

(wnhbghnG)hwpulgulwi
thnfuwqntignipym: Llhwp  1.17-nud dwpdwl phwpnud
pipJwo E P ubtninn nmdny btpynt
ohynn dwytiptnypbtph hynwip: @wuwmwgh  hydw6 1.5 Jhnbpod
wnwowlnmd GG Juwbp «qudipowlltp», npnlp, dhyp dnmwuwh Ypwjing
uwhtiny, fjuqynui GG: dFpwlghg htimn wpwowlnid GG Gnp Yuuwtbp, npnlp

(inyyGuytiu pwjpwjynud GG L wynutu pwpniGuly: C6n npnid, wnwohl htinphG
pwjpwyynid GG vwwy wipnipjudp Yywlynn Gyniptpp: Uwlw)l dwdwbwly
wn dwiwlwly pwjpwjynid L Gwl gnpohpwljnipn:

Uupdwl oipdwumhdwlh pwpépugdwl yuwjdwlitpmyd wnhtqujhl
Juytpp pnypulnd &6, Ywyywo wnwldhG mupptpp swthbtpp’ hnppwlnid,
L dwiwl vwybtplnypp nunGmu E wytih hwpp:

Ahpmghnd vwyniip mtinh E niGhGnd huygnn gnpdhpwGymph b dywy-
ynn Gyniph wwundGiph thnfuwnupd nmnuihnfunipwl wpyyniGpnd:  Gpp
Jupdwl otipdwuwmhdwlp pwpép L 800...900°C-hg, nhdnighnl dw)ndl
wytih Gyuutih £ qunlnd:

Lhvpwlub (opupnuiglng) Sw)mdp pupdnp ghipdwumhdwlh wyuwydwd-
Gtpnud ppywoGh pupdp pwthwlgtjhnipjul W gnpohph, W mwptinh wowe-
GwjhG dwytiplnypltph htn Gpuw wpwq Shwlwnt 2Gnphpy 2thynn dwyb-
nunyypGhph opuhnugiwl htimbwp b: Unwowgwd opuhnujhl punwlpbpn
pwywywGhG thfupnG GG, wyn yuumdwnny b htpumnipjudp pwjpwjymy Ga:
Pwugywo Gnp ptpmbtpp Ypyhb opuphnwlnid L pwjpwjynid LaG:

Qnnpohph hytw G dwytplnypltiph ypw jupmdGtph L 9tpdwumhdwG-
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Gtph wihwJwuwpwswih pwjupdwd, hGywtu Gl Jwpdwl mupptp plnyp-
(tnh wwwdwnny qnpohph mwppbp mtnuwdwutipnid dwpdwl nidqlimpynilp
thwldiwa sk U juuquo E jupiwl yqwjdwGitphg:

UGYywh wmbtuwlyhg b GuluwynipyniGhg, Yunpnn qnpohpltinG wnwohl
htipphG dw)yynd GG httnnhG Ghunny: <GnhG Ghunh ypuw wnwowlnid k dw)-
Jwl hwppwly qpnyuiwui, juwy, wnwldhG ghypbpmd Gl thnpp puguw-
uwluwl oy htwmphG wGlymbny (GY.1.18w): Ny wquu Yupiwl dwdwluly
Yupnn Ggph tpyuwjlpny Jwpdwl hwppwlh hy g wylnpniG6 wihwjwuw-
pwsuwth E: Guppsh ququph tnun wjl (A Ytwm) npnpwyhnptG d6o b, npntin
pwnén otipdwuwmpdwlp L 2thdwl yqujdwGitpp wipwpblyuwun Ga:

Unolh Ghunny dwynuiG pGpwlnd b ¢, qwyGmpjudp, by, tplupni-
pjuip b hy funpnipjundp thnuhyjh wnweowgdwdp (G.1.18p): ®nuplh wnolih
tqpp Yupnn tgqphg quGymd £ ny dto f htnwynpmipjul Jpw: ®nuhyp
wmtinupwfuwo k jupnn tqphG gniquhtn:

Gnpohph dwpiwl wmbuptipp pipwo GG Gyup 1.19-mu:

Unwohl nhypnid (GY. 1.19w) qnpohpp dwpdmd t (hy ) dhwyG htnhG
(hunny: “Fw wmtinh £ nGhGnd YuipdwG 2tpmp thnpp wpdbpGhiph nhwypnud:

oy

ey

h hG

w) p)
Ul 1.18. Qnpohph dwnuip htnpl (w) L wnglh (p) Ghunbipng
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Gnynpnpn ntiypnid htimhG Ghunh dwygwonipjwll wybjwlnd £ wnolh
Ghuwnny dwpnuip, npl niGh wy) mbup: Uy pnpugpymd £ dwpgwo thnuhyh
swihtipny' ¢, (wyGnipjudp L by, tpuwpnipjudp (GY. 1.19p), hwGnhwnu k
pwduwyuwGhl hwqunby L dhwjl wpuquhwwm wnnpuuwb qnpohpltinh

L. 1.19. Qnpohph dwpdwl mbupp

unw, npnlp wpfuwmmd GG o > 0,5 # yuuipdwG 2tpnny L pupdp Juipdw
wpwaqnipniGitpny: Gwhdwo qnpohph fuptiwl wpwqnipjnilhg’ thnfuynd
L Yupnn uwjphg thnupyh tqph htnwynpuipyniGp: @npp L thohG Yupdiwh
wpwqgnipniGitpny wuwwmbihu (wpuquwhwwm wonwuwwt  qnpohpGhpny
Junnigquopwjhl wynnuuwbtpp dyuiiwl dwdwlwly) qiuwynp Yupnn
uwyjnh L thnuhYh Ggph htnwynpnipymGp nunGnid k f, npp thnupyh htnmwgqu
nwpwodwl swihny thnppwlnd k (GY. 1.19q): bw Juuwo £ dwlwdh htun,
nnp Yupnn Gqppl dnn qubynn weolh dwitplnyph npnwih dwup wwywm-
wuwlimd b dwyndhg: Pupdp jupiwl wpwgmpmGibpny wpfuwmnmbihu
(qupon hwiwdaniywoph qnpdohpltp), tpp dwljwénp puguuynid k, thnuhyh
tqpp moymd E htmhG Ghumh dw)gwophl, L ytpoGwlwliwwytu dw)yuo
gnpohph Ypw uvlmd b dhwjG thnuhyh dh dwup: Uwpndp Gpynt dw-
ytipunypltpny hwlnhwnd £ wjl qnpohpltiph nwypnid, npnlp w)fuwwmnid
GG o > 0,2 ¢ YupiwG tpumny L Yupdwl dhohlG wpwgmpmGatpny: Uju
dwpnuip pnmpwqpuyui t pwqitigp gnpohpGtph hwdiwn:

{twmpG Ghunny qonpohph Yw)nwip npnphy L L GGpwpyymd E
ubptGwdwubph dwyiwl opplwywthmpjwuln (GY. 1.20): ‘LYwpmy Jupbh
wnw@dlwglt] tpbp mbtnudwu: 7 mbnuiwup hwpdwpwpbpiwl (uyqplu-
Jul dwpiwl) dudwlwywdhongG E, nph plpugpmd wmbtnh L mGEGnd
dwltplniph wytih Jwwm nnipu gggwo dwubhybGtiph dwynud: 77 mbnudwup
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Gnpiw] dwpdwl dwdwlwluwihongl b, npp pGnipugpynud L Gpulnyg, np
wyfuwnwdwiwlwlh dtowgdwln qnigplpwg dw)nuip wumhdwlwpwn
wdnw E: Apnpwyh dwpqwoph hwubtijhu pthdwl wuwjdwGGtpp thnfuynud GG
(fuhunn pwpépwlnd t gqifuwyn-
puytiu Yuupdwl 9otpdwumnhdw-

h
Gp) L ujuymd t HI ° pwpép %
(wntwmwih) dwpiwl dwuiwiw-
Juipgngp:

‘unp quwd upjwo qnpdhph
wpfuwunniuwynipjul wnlnnnip- -

JniGp dhGstk Gpw fuwthwGndp, T, pou
Luju[lﬁpﬁ‘ ﬂhﬁZh Ulllhlilllﬁlll_]llﬁ LY. 1.20. Uwpwdph Jujunisp
dwpiwl hwulbp, Ynyynd L wpfuwmnwdwiwbwlh wbnnnipjnithg

qnpohph YuyniGmpymG (7):

Gnpohph Jujnilnipjwl plGunpnipynilp yuwplnp qnpoGuwiwub Gpwlw-
YnipyniG niGh, hwnjuwbu wyuniwnm wpnwnpnipjul yuwyjdwatpnd,
pwGh np npwbhg Yuhugwo b6 jupning Gywliwl nGntuwljwl gnguwbhy-
Gtpp: NOpnwlh vwhdwGGipnd mtinh niGh htnlyw) juwnp.

ViT" =V, T,"=V;T" = V,T{" = const = C, (1.15)
npuntn V — G yuupdw G wpuqnipniG6 £ T juyniGnipjuG nhypnid,
m -p° wunmhdwbh gnighyn:
<bwmlwpwp'
_c
=Tw
Uupdwl V wpuwgmpjul hwpgupyiwl pwGwdll wihpudtyum t mGk-

(1.16)

Gw] wyGuhuh wmtupny, npp hwpdwp YihGh wpnmwnpmpjwl ywjdwGGtph:
C gnpowlyhgp hwpyh t wnGmd pninp qnponGGhpp, npnlp pugwhwjn
wmtiupny dnwo sh0 pwlwalh dhe: Uyn gnpowlghg Junbih £ wnw6d Guglty
Yupdw t funpnipynilp b S dwwunnignuip b pwGwélp Gipyujwuglt] htumbywy
wbupny’
V= Civ
TMtovsW
Upwgnipjwl Juup jupdwl wqupwitwptphg (1.17), npp ppgwo k
wnbtntuwnniGipmy, hGwpwynpmpinil £ mwihu hwpgupyl jupdwl wuwj-
dwGGtpp , L hwnny 62qpuniwG Juphp sh wnwouwlnud:

(1.17)
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Guphsh uomgywopwihl L tpypwsuhwljul mwppbpn:

‘Lnpdw] YuphyGtpp punuguo G wyfuwwnwipwjhG (qifuhy) L odwG-
Y (hpw() Ywubiphg:

Guphsh hpwlp ywwpwunymd L wwpptnp hwnnygpltpn” mnnuG-
niG, pwnwyniuwdl, Yinp L dwnwymy & gnpohpp Juwwhsh vt wdpugGtijn
hwdwp: ‘Lnpdw) Yuphsh pununphs mwppbnG GG (GY. 1.21)°

1) wnolh dwytplnypn,
2) qifuwynp htinhG dwytplogpp,
3) odwlnuwy htimhG Ywybtplnypn,
4) qifuwnnp Yunpnn tqpp,
5) odw(inwy Yupnn tqpp,
6) Yuphsh ququpn
Lnpiwy  Yuphsh - Bpypwswthwywd
LY. 1.21. Unpdwyg Yuiphsh - wwpwdtnptipp pmpwgpline hwdwp
nwpplipp (GY. 1.22) wGhpwdtym t wnwidGuglby
htimlyw dwytplnypltpp

1) hhiGwlwl hwppnipyniG (hwnmwlwqoh hwppnipniG),
2) qifuwynp hwwunn hwppnipyniG’ N-N,
3) odwlinuy hwwnnn hwppnipynG V-V
‘Lnpdw] Yuphsh hwdwn qifuwynp hwwnn hwppnipjwl ypw vnwgynid

Ni-Ni N-N

N )\ N,
hwppnipjnil

3 Skup U

Ihdtwlwl
hwppnipynil

A
Uwwnnignid

o Ul 1.22. Yuphsh tpypusuhwlul yuwpwitnpbpp



Ll htnlyw) whlyynmGGtpp. v giuwynp wnolh wGlymG, o' qfuwynp httnhG
wlyniG, B updwl whlyymG, nGn npmd’ o+p+y =90°, huy 6-G Yupdwb wa-
GG E:

N;-N, hwunypnud Gnpdw) Yuphgh wilpyniGGtpG G6° v, odwlnul wn-
olh wllynG L o odwlnul htnhG whlynG: <wnwuqoh hwppnipjub
dt9 Yuphsh Gpypwswthwuwl wwpwitnptphg 6. ¢ -6° hwnwlywqoh
glfuwynp wayynilp b @;-p° hwnmwuqoh odwlnuy wlyyniGp, npnlg thnthn-
funmpyniGGtpl wgnmud 66 Yuphsh JuniGnmpjwl, sQuyuo dwytpuniyph
dwpnnipjul L jupiwl dwdiwlwl wnwowgwo nidtph pwnunphsGtph
Ypw: Lwnwluqdh hwppnipjul htim qiluwynp Yupng tqph juqiwo w-
niGp’ A-G, Ynsynd E qifuwynp Yupnn bgph plipdw6 walynG, npp upnn L
1hGt npwlwl, ppwgwuwub b qunyulwi:

GQuuJwo dywlynn Gymph hwnynpniGGiphg” pGupynid GG Yuphgh
tnypuwswthwluwl ywpwdtinptpp b updwl swytiplogph dlp:

Gwpnn qnpohpGnh hhiGulwa wkuwyGhpp

Utnwnuiywliwb dto oqumuagnpoynn gnpohpltipp puqiuqui GG L
nwpwplnygp L, Jupujwo phGJwoph wuwwpwumdwl wnbulnnghwlywd
gqnponpGpwghg, wpmwnpnnuuwlnipjuilhg, dywyynn dwytplnyph duhg ni
dywiwl tnulwyhg, pwdwlymd GG httwbjw) fjudptinh:

USrhULE: UnppsGtpp dtnwnuiyuyiwl wpmwnpnipjniGmd Yh-
pwnynn wikGwwnwpwoywo qnpohpltpl G6G: Ghpwnynid GG juwnwwmwjhd,
futwnwwnwnupdniuyhl, YJuwpnwtjwghl, Gopunw), nwlniwl, pnpodwd
hwuwnngGtpnuy, fpwewnwjhl wyunniwwmbtpnid, jhuwwyunniwwmbtpnd L
wj] puquiwqul hwuwnngGhpned:

YuphsGbph puqiwplnygp YhpwnmpymbGp hwiqbgptg npuig puqg-
dwphy wmbuwyltinh, yunnigqwopltiph nt tpypwswthwuwl ywpwutnptiph
untinodwlp, npnlp thnthnfuynd GG juhujwo dtnmwnwhwwm hwuwmngh nh-
whg nt juunwpynn wpfuwwnwph plnyphg:

UunpyGtpp (hGnud Ga.

1) Cum hwumngh mbuwyh' w) pwnwwnwyhG, p) nwlndwd, q) pnpo-
dw(, ) wywmniwwnGiph hwdwp YuphsGtp, &) Ghpunw)dw hnphgnGuyub
(tpmw) hwuwmngGbph hwdwp, q) hwwmny hwwnnyy hwunngGph hwdwp,
£) dlwynp:

2) Luwm Wyuldwl mbuwlh' w) wignuiwghG, p) npnn, q) zpewmnwtwd,
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1) dlwynp, &) upnipuliwa, q) Gipumw)dwd, £) hwwnhg, p) wiququp:

3) Cun ghwwih Gywwiuip ninuuyiwa’ w) pwnwynuhl, p) nwd-
qilighwy:

4) Cun Fwldwb pGnyph” w) ulwwnwy), p) dwppwwnwy, q) Gnipp 2pow-
nwpdwl:

5) Cun ynswiwuh hwnnyph”™ w) mynuGlyyni, p) pwnwyniuh, q) Ynp:

6) Cun qifuhyh yuwomgywoph'® w) mnhn, p) pipwo, q) onjwo, 1)
dqquo:

7) Cum Swunigiwl nnuipjuG’ w) we, p) dwfu:

&) Cum wwwpuwuniwl tnuuyh' w) wipnnowywb, p) tnwygduo
qiluhyny, q) tinwlgquod Yud qnpjwd phptinny, 1) tnwlgywod dwwywytny,
) mnnnprwd qifuhyny, q) thnfuwphtynn Gepnhph ntup nilbgnn gfuhynd,
nnhG wipwgywo L qnpohpwljniphg yuwwpwumywod phptin:

9) Lum dhmwnh ubeh' w) wpwquwhwn wnnuumhg, p) Juponp hw-
dwdnywopt phptinny, ¢) dhGtpwiwybpudhuwlyw phptnny, n) gbpljupon
Gynptinhg” wpiwuwnwjhG, pnph funpuGwpnudél Ghuphnhg (KHB):

PAPILE Jqhsltipp puqiwunwy vhnwnuiywliwi qnpohpltp ba,
npnlp dtwmwnh 2tpnp Yupdwb gnpoplpwgl hpwgnponmd b6 dwwnnigdwb
owpdiwl pugwluwympjul yuwjpiwlitpmy Gwiunpn wnwidh Gundwdp
hwonpn wnwih qwjtugdwl Jud pupdpugiwb hwpyh:

Aqhyn, (wpwywunpuunywoph Guuniwdp juunwpbmny hwiplpug
YupiwG pwpdmy’ V ninnnipjwdp, jnipupwlsjnip wnwdny fupmd k a, 2kpu,
huy wipnnompjuwip’ gmiwpwjhl (Xa,) pnnGyuopn’ Uk ninnnipjudp:

Uupynn a, ptpnp swhymd £ swyynn dwytiplngphl mnnwhwjwg nin-
nnipjudp:

Qqhyny wlgptiph Hwliwl dudwlwl wywhnymd £ 7...9 §wihnk-
wh Gpunipynil L R, = 0,32...2,5 ¢ SwppnipjniG:

quwl ypngtiuh wpwGdGwhwnynpniGl wjb t, np yuupdwl qnpoplpw-
gnid wnwowgwd mwpknn sh Jupnn htinwgyt] yupdwl gnunmg, L wjyG phy
ulnd E mwtinujhG wynuh dbe:

QAqhyGtpp (gl mwpuwomd GG qunby, hhdGwyulmyd, funynp utiphw i L
quiquowjhl wpnunpnipjwl vke' pGnphhy htimbyw wnwytjmpjniGGtnph.

1) npulp wikGwwpumwnpnnuwub Yupnn qnpohpltnhg GG,

2) hGwpwynpnipjniG GG mwihu uvnwlw] Quiiwl pwupdp dunipjnil
L Ypwyynn dwlbtplniyph dwppnipjniG’ wliuwhn pwlynph npujuynpnidhg,
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3) hGswbtu wnwGdhG vpnuiGtph Yhol, wylGuwtu £ qnidwpuwjhG Yujni-
(mpynilp pwpdp b, nph 2Gnphpn] gty dghgny Yupbih ©dulb) puqiwphy
(wuwywwmpwunyuopltp,

4) npwlg wpdtph swihp, npp dnGnd £ Gwiwyuupuunywoph wp-
dtiph U9, hwitdwwwpwn thnpp k:

AqhsGtipl oqumugnpoynid GG Gubl thnpp ubphwiwl wpnuwnpmpjul
dti9, tipp wlhpwdtipwn L wwywhnyty Gyuwydwl pupdp 6umpniG:

QqhsGtpli wwywhnymd GG Wuwliwl pwpdp wpnwnpnpuyjuGnipyni,
sGwywo’ wpfuwmmy GG Yupdwl gwon' 6..10 dpmy wpwgqmpyniGitpny:
Muwwndwnl wjl t, np yuupdwlp dwulwygnn wnwibtph Yupnn tqpbph qni-
dwpwjhG tpupnpyniip dko L QghsGtiph pwpén wpmwnpnnuijwlnipjnilin
pugwmpynd b Gul Gpubny, np jnipupwGynip dghy nmiGh ulwwmw), dwp-
pwwnw) b npwdwswhnn wnwdlbn, nph 2Gnphhy Wby qnpoplpwgny Juptih £
Juuwuwpty vh pwlh wnwGdhG qnpoplpugltin (ulwwnwy, YJhuwdwpnip, dwp-
puwwnwy): Oquugnpoynid GG dywydwl tpym tnubwyibp” dgnid L wigpw-
hwwnmu:

Qquwb niypnid hwuwnngh Yupdwl P nudp Yhpwnynd £ dghsh wnsw-
dwuh Yypw, b junmwpynd £ gnpohpp dgmd: Uju nhiygpnd nhbnpdwghwjh k
tipwunpyyni qnpohph hpwin (wowowlnid GG dquwl jwpndGhp): UGgpw-
hwwndwl nhypmyd yupdwl P nidp yhpwnynd £ gnpohph htnhG wpfuw-
nwlpwjhl vwund: Ujn nhypnd nhpnpiwgynid £ Gpuw dnnp (wnwow Gnid
GG ubnnuiw@ pupniGhp):

dwdwlwlywyhg vbptlw)hmpjul vt9 oqumuqgnpdynny dqhsGtipp pw-
dwlymd GG tpynt fudph® GepphG L wpwmwphG dqhsGtp” hwiwwwwmwuuw -
Gwpwp GapphG L wpunwphl dwytplnygplbph Q2uwlydwb hwdwn:

DreERLER: Dphgtipnuip uwldwl wikGuwunmwpuwoywd tnulwlibphg
dtyl k: UbtiptGwphlnipjul vk oquugnpoynn vhnwnuipwliwl uvwppw-
UnpnuiGtph pGnhwlnip Swywih dvnn 20%-p juquind GG pptqipwjhl hwu-
wmngGtipp, huly dbptGwohlnipjul wowldhG pGwquywnltpnd npulg Yh-
puwnnipyniGp hwulnd £ dhGsl 60%-h:

AQnpohplGtphg L ng dtyp sniGh duh L GQuGwympjul wjlGyphuh mwpw-
wmbuwGtp, hGyuybtu ptiqGtpp: dphgh witkGwibe wnwytynip niGG wyh t, np
hGuwpwynp £ Byt dlwynp dwytiplnyplbp, npp hwdiwp 66 yuwhwloynid
hwwuntyy, pupn hwpdwpwlpGtp L ny £ pupdp npuuynpmy niGkgnn wp-
fuwwmnnGtip: dptiqtipnip hp mbfulnnghwywb gnponGGtpny, wpmwnpnnu-
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Julnipjudp, whwytnmpjudp, wpdtipny L wj) gnigwlhpGbipny wytih
owhwytin £, pwl nwlnnuip, 2powmnwnuip b Gpuwldwb vjniu dutipp: Upnw-
nnpuijuinipjul wnmbuwltnhg dptiqupmuin ghomd £ dhwjl wpuwphl
dquwn:

dbphgtipnuihg htimn wwywhnyymd £ Gwupwywwmpwunywoph swthh
Gyunmipjniln’ 7...9 Yywihntnmh vwhdwlnud, huy dwybtplngph dwppnipynilpn’
dhGsl Ry = 1,25 i

dbnphqltinh nuuwunpqiwb gniguGhGtnl Ga.

1) Cumn Pptgh wowlgph Guwdwdp wwwilGhph puuunpoipjul
w) qublwlul wwnwdlbph guuwynpnipynilp qubGuywl dwybplngph Ypuw,
p) GwlwwmwjhG wnwdGtph nquuwynpnipjniln $ptigh wnwlgphG mnnuhw-
Jug hwppmipjwul Ypw, q) wiyniGuhl jud YnGwlul wnwdibph quuw-
Ynpnipjnilp YnGuywb dwytplnygph ypw, n) dlwynp” wnmwdbbph gquuwyn-
pnipjnilp dlwynp dwybplngph ypw (menighy jud gnguignn wpnphiny):

2) Cun wwmwth mynmpjwl w) mnhn wnwdGhipny, tpp wwnwdh
Yupnn bqpG ninnughd £ L ninnuhwjwug k& jupdw6 qifuwynp pupddwp, p)
ptip wwmwdltpny, Gpp wwmwdih Ywpnn tgpG miqnugho t L ptipqwo L
Yupiwl qifuwynp Jwpdiwl Gyunmdwdp, q) yuninmwuwjhl wnwdlbpny,
tipp wwnwdh Yupnn bgpp wyumninmwluwjhG t:

3) Cun dphqh Yunmgywoph' w) wipnnowlwl, tpp $ptql wipnn-
owwbu gnpohpwljmphg E, p) Ywqiwon, tpp gnpdhpwljmphg wwwn-
puwunywo wwnwdltpp bptigh hppwlh ypw wipwggwo GG dwljwgnpiwb
Juwd unuGdiwG vhongny, q) hwjwpnyh® Jupop hwiwdmpywophg wwwn-
puwunywo phptinhyGbipny $ptiqGhp, n) hwjwpwont, npp juqijwo E dh
pwlh unwlnupun fwd hwwnly $ptqltiphg L Gwpwwtujwo L dh pwih
dwltplnypltinh’ thwdwiw Gwljw dywyiwl hwdwn:

4) Cun wnwith Jupnigguoph' w) upwwnwd dptiqltp, p) onopwlyuo
wwnwdltinny $ptiqGtp:

5) Cun hwuwnngh Ypw wipugiwG w) hwqglndh’ YhGupnGulwb

wlgpny hwpiwpwlph Yypw wipwglbmnte hwdwp, p) wynswynp' YnGuyub
Jud quiuul ynywdwuny:
UGgptph Wywydiwl qnpohpbtn: UGgptiph d2wydwl hwiwp ogunugnpoynid
LG wmwpptp wmtuwyh gqnpohplhp’ quythynGGhp, Ghpunw)dwl gnpohpGhp,
wlgpwiuyGhyltp, whgpwlynyhyGtp, whgptp Wywltmne dghsGkp, hnjupw-
nbn, wpdwuwmwjhG Yuphy Ghp, hnGhGqujhG qfupyGtip:
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QUBLPUNLLE: QwhynGGtpp Gwuiwnbu]wo GG

w) hnd JwpdhGGhph vt wgptiph Wywliwb hwdwn,

p) (whiwybu vnwgyuo wigptph YytpuwqujhynGiwl hwdwp (oph-
Guwl dnynuihg, nunpdnuihg, Gwjuwwtiu qujhyninuihg unwgywo),

q) UnGwlwl funpugnuiGtph (oppGuwl YyhtGwpnGGtph) Wywliwb
hwdwnp:

QwjhynGGtph hhiGwlwl mtuwliepl 66" ywpnpwlwjh, yalnnpn-
Gwhw(, funp wgptph Wuwlyiwd, thtwmpwdl, onwlwdl qujhynGdwb
qifuhyGhp:

Nupmmuluyhli quhinGlGpd  wigptph Wwliwl wibkGwunwpwo-
Jwo qnpohpltpnG t6: GwjhynGGtpp wwwmpwumymd GG, hhdGulwlnd,
P18, P12, P9, P6M3, PIK5 dwllhyh wpwquwhwwm wnnuuwwmbtphg, hGswbtu
Gwl BK6, BK6-M, BK8, BK8-M L wj Jupoép hwdwdnijuopltphg:
Ghpwnynud GG wlgptph qujhynGiwG U yYbpwqujhynGiwl hwdwp
wwwhnytiny dwlynn whgph 11...13 Yywhwtinh dpunnipyniG b dwytiplng-
ph R;=20...80 ¢y dwppnipjniG:

MuwpnipwyuwjhlG qujhynGlGaph mpuwiwgqotinn unwinupntgyuo ta L
thGnud &G 0,1...80 WU swthtiph: 0,1...1 #f mpwiwghd niGkgnn qujhynGGtpp
Ungymu GG qpnyuub qujhynGGtin:

GQumpon hwdwdnyuophg quihlnbGEpl oqumuagnpdynid GG pnigtiph,
gqniGwynp dtwmwnbbph, ny dbnmwnuiui Gnipbph (wwywyh, dwpdwp, qpu-
Ghwn) dywluiwl hwdwp: Uju qujhynGGtpp (i yhpwnnipynG sa6 quabg
w)l ywwmdwnny, np pwyjwpwp wipnipjnil b YnpuumpjnG sniGuG, nph ht-
wblwbpny Yupnn dwup Yupdw gnpoplpwgnd Junpnn b thypyb: @npohph
Yupnn dwup wuwwpwunynd £ BK6, BK8, BK10M, BK15M, T5K12B twy-
Gph2h Yupop hwdwdnipuwopltnhg:

GhlinpnlGbph wlgphph )uyiwl hwdwn oquugnpoymu GG YEGwnpn-
Gwhw6 qujhynGGtp, npnlp tptp wmbuwyh GG wwpg, hwdwlygguwo L
hwiwlgywo wuwhwwbhy Ynbny:

Muwpq quyhynGatpp wwpnpuuwihlG quyhynGGiphg wwpptpdoud Gl
hptiGg Junpdnpjwip, pwih np dyulynud b6 ny funp wlgptn: Oqunugnpoymy LG
wdnip Gyniptiph Wwdwl hwdwn:

Jwidwygywo quiyhynGGtpp yuwumpwunymd GG tpyynnd” qnpohpwGmiph
fuGuynnnipjul Guuumwyny, L Gwppwwntuuwo 6 YaGunpnGwywl wigph L
quubwywi nt YnGuwywb ywytiplnypltph shwdwiwwjuw Buydwl hwdwn:
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Jwiwlygywo wwhwwGhy YnGny quyihynGGtpp dpuymd GG YhGunpn-
(wlywl wlgph ny thwjl quubuyui L ynGwlwl dwybplnypibpp, wjy) Gub
120° ynGuyw lGmpjudp wuwhywlhy YnGulul Swibplngpn:

Ohinpwdlh qupihlnG6Epi mGEG wybih wupg Junmgyuop: Fnpulg
Yupnn dwup wwwumpwunynd o ophptinhh wbupny wpwqwhwwm  wnn-
wwwnhg Jwd Junpop hwidwanywophg: Uyu qujhynGatnG niGtl pwpén
Ynpunipjnil L oquuugnpoynud GG dniypwopltinh, wumhdwlwynp L dLwynp,
hGswbu Gul thnpp mpuwdwqoh wlgptph WywliwG hwdwn (1...1,5 dihg
thnpp):

Cthiwl mdtiph (Juqtigiwl Guuwmuyny qujthynGh mpuwiwswthng dwub
mbh odwlnuy htimhG o= 5..10° wlyynmG L qujhynGh wipnn9 Lplwnn-
pjwdp’ 0,05...0,1 df pwpwugmd: Nnnopn dwwyugtGh puwyGnipymGp Juqind
£ 0,2...0,5 ¢, hul wfuwwmwbGpwjhG dwuh htimhG wGyynGp' 10...15°:

Otnpwdl qujhynGGtph ptipnipjniGl wjG t, np ngpulp mGLG pugw-
uwuwl wnolh walnil, nph htimbwbpny thnppwnid £ hGwpwynp upnud-
Gtnh phyp: UngLh Ghuwmp ypw thnuhlGhph dpwldwdp Jupbh £ wnolh wi-
nulp nupdGb gpuyul jud 0% Uwlw)l wju nhypmd qujihynGh wd-
nnpjnilp Gugqnud t:

N Uuv8LEAP UTUGUUL QUBLPUNLLE: {ind dwpilGh ko
dhGsk 80 Ju mpuwiwqony wlgptnh Wywyiwl hwiwp oquuwugnpoymu LG
htinlywy qujhynGGupp. pGnuwlnpwjhl, hpuwgwlwjhl, wwmninwluwynphy
(2GaYwyh6), yupnipuywjyhG b onuwwdl dywydwl qujhynGGtp:

Uu3LeULUB LA LG Ulgpww)GhsGipp dho wmwpuwomyd bl quby
dtiptGwyhlnipjul, hwnjuybtu utphwywb L funpnp ubphwliwl wpnw-
nnnipjwl vte: dpwlp Gwuwmtiujwo LG

1) Gwuwwbu vnwgyuo wlgptiph howgiwl hwdwp, 2) wlgptph
Swjuwunuwyhl dwutipmd quuuyui L YnGwiuwl junpugniGtph Yywydwb
hwdwp (YaGunpnGuwywl wlgptiph, wuwpnipwyibph qiiupyltph hwdwp L
wy16), 3) GwwunwjhG L dLwynp dwybplnygpltpp Guwliwl hwdwn:

Gqubwlwuwb whgptph Bywiiwl hwiwnp Gwuwnbtuwo wigpwiw)lhy-
GtpG wywhnynd &6 Wuwydw6 11...12 jwihnbnp GumpmiG L dwiyb-
nunyph R, = 20...40 df SwppnipyniG:

UGgpwwjGhsGhpp (hGnwd 6" w) wipnnowlwl’ ynywdwuny' 10...40 uf
npwiwqony, p) hwjwpnyh, nGngh wnwdGbpny wynswdwuny 32...80 du
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mpwiwqony, q) hwqglnyh, wdpnnowuwG' 25...60 df mpwiwqony, hwqgln-
yh, hwjwpnyh' 40...120 Jf mpuiwqony:

ULSRUUNGAIULE: UlgpwlnyhsGtpp Guhuwmbujuo GG wlgptph
(whiwywl L yYbpoGwlwl WuwynmuiGtnh hwiwp: Guuduwoe duydwl
wbfulninghwwl ywhw(eltphg wlgpwynyhsGtpny Junptih L wywhnyty
dywluw 6...11 YJwihmtwmp GunmpjniG L swytplnyph R, = 2,5...0,32 4
Jwppnipjnl:

UlgpwlnyhsGtpl oquuagnpoynd bl (wuwwbtu Ghpumwynuthg fuwd
wlgpwjw)inuihg htimn unwgyuwo whgptinh Bywlyiwl hwdwnp:

UGgpwlnyhsGtpp unpbih £ pwdwib] hbmbywy fjudpbph. w) pun dwy-
ynn wgph dup’ quubuui L ynGuywd, p) pun wipugiwl tnuGwyp wyn-
suynp L hwqgGnyh, q) pun Junnigwoph wipnnowlwl L hwywpnyh,
Unyu L jupquynpynn:

NUAARUGULUT L @NLOPLLEAMupmpuyGhph Jyuiwl hwdiwnp
oqunuugnpoynd il mwpptp tnuwGwyitp W gnpohplbp, npnGg plGunpnipjniln
YJwiuJwd bt wwpnipwyh wbuwlhg, swihbphg, dwlynn  dwibtplogph
npwhG L swihtipnhG Gipluwjwgynn Gaunipjul ywhwGeGtphg L wyG:

‘Lwhwywunpwunywopltph Yypw wuwpnipuylbph unmwgnidG ppw-
gnpoynud k, hhpdGuyuwlnid, htinbyw) tnuGuyGtpny

1) wwpnipwh wpndhih dlwynpnidp Yupnn gnpohpny, 2) wwpnipuwyh
wnndhh dlwynpmip wpmwdqihs gnpohpny, 3) wwpnipwih wpndhih
Aludnpnuip gpuGuiwG gqnpohpny:

MuwpnipulGtph Yuwlnuip yupdwl tnuiwing ppupjuiugymd L ygu-
pnipujuwhwGiwG YunphsGpny, vwipbpny, GipuupnipwyhsGtpny, wpnw-
wuwpnipywyhsGpny, wwpnpuluwhwiiwb qupylbpny, wwpmpuljwhwi-
dwl dptqltpny, hnupwnptipny:

GuphsGtpny U uvwlpbpny wwpnipuwhwlndp juyG nmwpwond L
quiti fuwnwwnwjhl wynniwwmbtph Yypw' thnpp judpwpwlwyh Gwjuw wywwm-
puwunywopltinh Wyuwlydwl ntypnd: Uw6bylGtph L Gwjuwwywwmpuum-
Jwopltinh vt GhipphG wwpnipwlyGtph dpwliwl hwdwnp jwjl nwpwonid
Ll quby GhpywpnipuyhsGtpp, npnGp Yhpwnymd 6 dwibjuiywldwi L
wyundwwn hwunnglpmy: QGwywo npnpwlh plpnipyniGGEphG wpnw-
npnipjwl dk9, 2Gnphhy pptiig hwiwyhww Ghnipjw, Ldwlnpjul L pwhw-
gnpodwl yupgnipjwl, wpmwphl yuwpnipulyibph Bywiiwl hwiwp )l
nwpwonid LG gt wpmwuwwpnipwlhyGtpp:
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Mupnipuuiywynn qifuhyltpp, npnlp oquuwagnpoynmu GG GipphG L
wnunwphl wwpmpwllbph Gwliwl hwdwp, w)p qnpohpltinh hwibdwwm
niGtl vh pwpp wnwytympynGbtp, vwlyw)l whwgnpoiwl wmtuwltnhg
puwny bG:

Mupnipujudywynn dptiqltipG ogqmugnpoynmd kG wpumwphG L Ghp-
phG vpwGlyyniG b ubnuwlGwdl ypndhiGipny ywpnipuwyitiph Quydwl hw-
dwn b wywhnynud &6 Gywliwl pwpép wpnuwnpnnujw GnipyniG:

Mupnpuljwhnynuip qujl mwpwond £ quby pGnphhy wyG pwGh, np
wwwhnymd b duyynn wwpnipwyh swthh b dwytpunyph dwppnipnil
pwpdn Guumpynil: Unynpwpwnp wju tnubuynyg GG dulynd Gl hno,
thujwo (whiwwwnmpwunmywoph Ypwjh wwpnpwlyGhpp:

Upnwdaqudwi tnubuyny yuwpmpwlltph dlwynpnuip pGnipwgpynid
t Gpwlny, np wpluwwnwlph plpwgpnid wnwowlnd Gl 6o pthiwb nidbp,
pwlh np Gwhiwwwumpwumywopn b gnpohpl wpuwwmnid GG nputiu wnwlg
puwgwlyh uwhnn qnyyq: Uju tnuGwyny w)fuwwmnid GG wnwlg wnwptnujhl
wlnup GipyupnipuyhsGhpp L wpmwphG yuwpnipuytph Quydwl hwjw-
pnyh wpnmwdqidwl wpmwwywpnipuyhyGapp:

MupnipulyGtph dlwynpiwl wnwownbd tnwlwlyGtphg & hnnywy-
Gtpny L wpnwwwpnipuyhsGpny gpuGuydwdp yqupnipuyGbph vnwgne-
un: Gpunlwinuip nwppbpymd b wpnwdqinuihg Gpulny, np gnpohpp L
(whwywunpwunywopn Juqund GG ngy pt uwhnn, wj) qnpiw qniyq, nph
htimlwlpny qquihnptl thnppwlnmd GG pthdwl mdtpp: Uyn qnpohpltphg
GG upnipuuwgqpuGwydwl hnpnduyGtpp, hwpp gpuGuyGbpp, ywpnipw-
YJugpuluwldwl gifuhyGhpp:

QLuLuUGULy UsuvvuuvhJyuerh UCUYQUUL  QNrOPLULEL:
Gubwjuwl wwwdlwbhylbph dwydwl gqnpohpltpp pwdwlymyd GG
htinlyw] mwpwwntuwyGtph’

1) MuwwmakGwhwiiwl L wiytGupnGunhp yupnipdwl tnuluwyny nin-
nuuwy b 2tnuunwd qquiwlul wnwiGuGhyitph Quldiwl qnpohpbtip.

w) dwwnwjhG dnpniujhG $pkqlbp (JG0 dnnmih wwnmwdGuGhyGbph
Yywliwl hwdwp), p) ujuyunwyuwjhl dngniyujhG $pkqlbp, q) nippuunmwd
L 2tnuumud wnwdGuwGpyGbph Gyuydwl dqhsGhp, 1) wnwiGuwi)wlyiwb
qlfuhyGtip, npnlp wnwdGwigh wnwdltpp Qwind G6 thwdwiwlwy:

2) GtGwmpnGupnujhG ygupmpuiiwl jud ppowgnpiwl tnuGuyny
nnuunud L ytnuunuwd quuiuyul wnwdGulhyGtph Quyiwl qnpohplbn.
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w) ninnuunwyd wnwiGuwd)wydwl vwiptp, p) wnwdui)uydwd
npnlwlujhG $ptiqltp, q) wnwiGui)wliwb pnpohyGtip, n) pLtpGhnp:

3) N3 yaGumpnGuwpnujhG L YaGupnGwpnujhl tnuGuyny pLpnGujhG
qulwyul wnwiGwlhyGbph Qyuydwb gnpohpGhp.

w) wnwilwiyuydwli vyujunwluwihG Sptqltp, p) wnwdGuiywly-
dwl npnGuyuyhG pptqllp, q) pLbpGhp, n) wnwiGwi)wyiwi Jwnwjhb
bntiqltp, &) qniyq tnuunwd wnwiGwiwliwl vwiptp, q) qnyyq phnw-
wnuwd pnpohsGtp 2LpnlwjhG wnwdGwbhyatnh Quldwl hwiwp:

‘Ltipjuyniu dbptlwphlnipjul b9 pugwnwuytu oqunugnpoynid th
EynpJtiGnwihl wnwdGwlhybtp, hbnbwpwp (wl tdntliunwihl wnwd-
Guwiywliwl qnpohpltin:

dbpp G24wo qnpohpltph wwpumbuwyGlph, Yuengyuoph, tpypw-
swhwjwl wwpwdtmptnh, (wuwqdéiwl dwuhl dwlpwiwul wmtu U.O-.
Lwowpjml «Ukmunuhwwn qnpohpGpy nuuwghpp (Gplwb «Gwpunwpu-
qtin» hpwwnwnpwsmpyniG. 2007p.):

QnpohpwyhG Gyniptin

Ubtnwnuiywyiwb qupqugiwl ywwinipjnilp gniyg & wmwihu, np db-
phlwphlnpjwl dhe wpmwnpnnuywlnipjul pwpépwgdwl Juplnp ninh-
Gtphg dtyp Gnp qnpohpwlyniptiph oquugnponidG k: {wyh wnlGhny w)a,
nn (whiwywunpwunywopltipn vwppymd GG wmwppbp Gymptphg, npnlp
wmnwpptipymy GG hptlg bhghjuw-vbfuwGhijuul hwnympniGitpny, dywly-
ynn dwybtipnypltiph dwppnipjuwlp L npwyhl Gipyuwjwugynd GG mwnppbp
wwhw(9Gtp, wihpwdtpumnipynil £ wnwowlnd gnpohpwjhl wpunwnpni-
pjwl ut9 oquuqnpol] mwpptp hwnynipniGlpny pwqiwphy dwybhy-
(tinh qnpohpwGjnphin:

Qnpohpwhlnipjul dhe Gipluyniiu oquuwagnpoymu GG htinlywy hhu-
Guwlywl gnpohpwyphG Gyniptipp’

w) qnpohpwyhl wynnuuwGtp (wpuquwhwwn, (ighpdwo, wouwotwh),

p) unop hwiwdnwoplbp,

q) thGtpwjwytpwihuywa Gyniphn,

1) qbipupop Gyniphp:

Qnpohpwljniph pGunpnipjwl Ypw wannn wyuwjdwGGtpG ta.
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w) qnpohph whuyp, Gywlwynipjmbp, swhtpp b wpfuwnwipwihl ww)-
dwGGtpp,

p) qnpohph ywwmpwumiw b mbfulnmnghwG:

QnpohpwlympbphG Gtpywjwgynid GG dh wpp wuwhweltin, npnlghg
hwwunniy ntip nG6G htnbywGepp

w) Yuupnn hwwnynipyniGn,

p) yupipuyuwjniGnipjnilp (@piwwyniGnipyniGp),

q) twpww niGnipjniGp uwnp yhdwynd,

1) dtfuwGhyuluwl hwnlynipynGGtpp, wipnipyniln,

t) WpwlbihnipyniGp vwnp L mwp yhdwlnd,

q) ghlp:

Qnpohpwlymph Yupnn hwwnimpynilp pugunwytiu npnpymd E Gpw
Jqupipwuwyniinipjudp: Swpwgiwl pwpdp oipdwumhdwlnd qnpdhpw-
Gymph’ hp JupopmpniGp wwhwywltint hwnympjudp npnpymd £ Gpu
JupipwluwniGmpmnilp: Gupdipwuwniinpmniip pmpwgpynd & gnpohpw-
(yniph npnpwlh otipdwumhdwlny, nph ghiypmd Gpw Jupopmpjnilp sh he-
Gnud pGnniGuo vwhdwlhg (ophGuy vhask HRC60): Uy obpdwumhdw(E by
unjw) qnpohpwljniph hwiwn JupdpwluwyniGmpjwl vwhdiwGa E:

Uwnp yhdwynmd dwpwluwyniGnpjul ntpp d6o L wyl qnpohpltiph hw-
dwp, npnlp wpfuwmmy GG Yupdwl gwopn wpwqmpymbGatpny (dqhsGhp,
Gepwwpnipuyhgbbp, wigpwynyhsGbp b wj)b):

Gupnn qnpohph dtfuwGhyuwywl hwnynmpnGitpp jupuwo GG puq-
dwphy qnpon(Gtphg’ Gymph phihwlywl pununpnipjmbhg, shypnjuwpopn-
pyniGhg, yupphnujhG wihwdwubnnpjmGhg L wyG: Mbwmp E G, np qnp-
Ohpw(mniptiph dtjuwGhyjulwl hwunynmpjmGatpp giintu pujwlwGhG nund-
Gwuhpywo stG:

Mnnuuwwnhg yuupwunjwo gnpdhpltipp Gapwplyynd GG dtluwGhyw-
JuG dwliwl, npp wwwdwnny dpwlbhnmpynilGp wybih funpl nundGuw-
uhpiwl Yuphp niGh: Uyniph YpwybhmpmniGp wbnp L nundGuuhpby ng
UhwjG wpnwnpnnuubnipjul b pupdp Jupiwli wpugnipjuwl wwwhny-
dwd, wyl Qyuyywo dwitplnyph npuyl wywhnybtnt hwdwnp, npl ninu-
Yhnptl wgnnmd & gnpohph pwhwgnponnuijul hwwnwbh) Gapp ypu:

Uowlyynn Gyniph 9otipdwhwnnppuwlnipnilp dho wqntignipyniG k& pnn-
(intd qnpohph dwywluwyniinipjul Ypw: Swop ohpdwhwnnppuljuwlnipjwb
ntypmd otipimpjnilp sh whglnud dywlynn Gwpwywnmpuunyuwophli L
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dlmud L qnpohph dko, Juipiwl gnunmd otipdwuwmpdwlp swthhg wytih k
pwpdpwlnud, hGsp L hwlqbglmd t qnpohph fupnn hwnnipjuG wGydwin:
Gnpohpwljniptinh hhiGwlwl hwnynpynGitpp phpwo G0 wnjniuwly
1.2-md: Gwhujwo qnpohph Junnigywophg, dlhg, wmbtuwlhg' qnpohpu-
(jnipG pGunpthu hwpyh £ wnlynd Gpu ghGp, npp gnpohph hGpwpdtph ypw
nilitilnud £ qquih wgntignipyni(:
1.4.1. Upmquhwwn wnnuwwmnGhn

Upwquwhww wynnuuwlbpp  dwyGhywynpynd &G P wwnny (rapid’
wnwaq, 2mwy):

Cun yupiwl hwnympniGGtph b phihwljwl pwnunpmpjul wpw-
quhwwn ynnuuwuwGtpp pwdwlynd GG Gpynt fudph.

1) Gnpiwy yupipwiwniGnipjul wpuwquhwwm wynnuuwnbhn,

2) punpdp yupdpwuwyninipjul wpuquhwm ynnuuwwnGbn:

Unwohl fudph wynnuuwwmGtph hwwnynmpymbGitpnG wytih hwdwwhwwbh
tG: Gpypnpn fudph wnnuunGhnt mGhG wytijh Gbn Guliwynpnil: UnwohG
fudph wnnuuwnGtph vwyGhyGhphg GG P18, P9, P6MS, P12, npnlighg vh pw-
Ghuh phthwwl pwnunpnipniln pipwo L wnyniuwy 1. 1-nud:

Pwgh Gpywo mwpptphg, wpwqwhwwm wynnuuwbtph db9 wywnpm Guy-
ymd b6 Gul wy) (bkghpnn wwpptp” Mn, Si, Cr, Ni, S, P, Mo: 3nmpwpw(sjnip
dwylh? niGh pp mwpwwmbuwyp P18M, POM (dnihpntGh wytjugnid dhGsl
1%):

Upwqwhwwn wnnuuwGtph dwlylhpwynpnudp mwppbp  GpypGhpnd
wmwppbip k:

UUU : Cun UUL-h uvnwlnupnh, wpuquhwnm wynnuuwmbbph dwy-
Ghpwynpiwl dwiwlwy ogmnugnpoymu GG M jud T mwnwjhlG wpmwhuwj-
wnnipjniGGtpp L wuwydwlGuwywb pywjhl GpuwGwynidiGhp:

Unynuwly 1.1
Mnnuuwunh dwyGhyn C W \Y%
P18 0,70...0,80 17,5..19,0 1,0..1,4
P9 0,85...0,80 8,5...10,0 2,0..2,6
P18®d2 085..09 | 175..19,0 | 1,8..24

Qopdwihw: Cun Gtpdwlhwih wqquihl vnwinupuh, wpuwgqwhwm
wnnuuwnh dwyGhh uljgpnid S mwnb t, wjlnmhtml pytp, npnlp gniyg GG
wwihu wnquuwwh dte Ynpbpwih, dnhpntth, Jwlwnhndh b Ynpwpoh
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thwunwgh wwpniGwynipniGp: OphGwl S-10-4-3-10 wpwqwhwwn wnn-
wuwuw, 10% W, 4% Mo, 3% V, 10% Co - h wupniGuwynipjuip:

Upwquwhwwm ynnuuwuwbtph jupipwluwninpmnilip pupén £ wotuwo-
GwjhG ynnuuwbtph Jupipwuwnilnpnithg, npp puguwumpynd b Gpwig
phihuyul pwununpnipjul nmwppbpnipjwdp, npl tp hp htipphG wqnmd £
wnnuuwwh dwpnbtluhnh junnigjuwoph ypw: Gwpphnuwjhl wihwiwutinnt -
pjnilp, npl wowowlnud L dnypdwo ynnuuwwumh uvwntgdwl dwudiwiwl, wpw-
quwhww wynnuuwwuh pipmpynGitnhg t: Gwpphnujhl wihwiwubnnpnil
nilitignn wnnuuwwunGbpl vnbnomd GG jpugmghy ndupnipymGGbp. otiptw-
Wuwliwl dwuiwlwy wnwowlnmd GG Gwpbtp: P18M L PIM wynnuuunGtpG
nGtl hwitdwnmwpwp thnpp JupphnuphG  wlhwdwutionpniG, vwyuw)G
nnwlp Gipupyymu GG wotuwoGuqpyiwdb, npp wwnmdwnny wnyjuw] wynnujwun-
Gtph otipdwipwynuip yuwmwpymd L hwunmly JunwpuGibpmd: UtpbGuphlne-
pjwl vt9 ndyup dywytijh ynnuuwbtph wowynipjnilp wowy £ ptipnud Gnp’
pwpép Jupdpwyuwjnilinpjwl wpwqwhwwm  wnnuuwwbtph wlhpwdtp-
wnnipjnil, npnGg plnpny b Ynpwjmh b Julwnhmih dto pwlwlyh wnljwjnt-
pjniGn (tpypnpn funwdp): pwlghg LG P18D2KS5, POD2KS5, PID2K10, PODS5,
P10®5KS5, P14d4: Lhdhwyub pununpnipjniln pepjwo L wnjnuuwy 1.2-nud:

Ugymunuly 1.2
fnnujuinh c W v Co
dwlyGhzp
P18®2K5 0,85...0,95 17,5...19,0 18..24 | 50..60
P10®5K5 1,45...1,55 10,0...11,5 44.55| 50..60
PID5 1,4..1,5 9,0..10,5 43.51 -
P14d4 1,2..13 13,0...14,5 34..41 -

Unpwjnh wybjugdwdp wpuwquwhww wnnuuwuwh Jupipwlwjniine-
pynilp pwpdpwlnd E dhGsl 670°C, nph 2Gnphhy dhowlnd GG ynnuuwnp
Yupnn hwnympymGatpp: Uwyuw)G Ynpwpnh pupdp mnynu wyuwpniGulynn
wnnuuuwbtpp hwiquwo 6 otpiwiywiiwl dwdwlwly dwptph wnwowg-
dw(, npp ptipmp)nil L hwdwpynud: Ywlwnhniih dho mnynu wupniGwyng
wnnuuwnitph Jupopmpynilp L, hwnjuwwtu, tw)wluwnlnpm it wyth
pwpdp GG, pwl dymu pninp wynnuuwwunGbphGp: Uww)l Ynbhnmpjnilp L
hnythnipymGp wju ghiypnd pujuwlwlhG Juwmwind t:

Upwqwhwwn ynnuuwunGtph twwl pipnipyniGG wyG t, np ngpulp niGuG
wlhwidwutn pwpujwo JupphnwjhG npw: Uy GJuqbglbn Guuunwlyng

36



Gtpyuynuiu wpwquwhwwm wynnuuwwltph vnwgnip juunwpynd £ thn)b-
dbnwnipghwul tnuGwyny, nph Yupnn hwnynipyniGG wytih pwpén t:
Mnnuuwwnh dwihywnpiw b6 wju nhypnd wytjwlnd £ MIT (thntlnip)
hwwywynuip, wjuybu opplGwy” PEM5KS5-MIT:

Onptistnmwnpghwywl tnubwyp pniy L wwihue vnwlw) d60 pwlw-
Unipjwdp highpnn mwpptn ywpniGwynn wjluyhuh wpuwquwhwn wynnuwwm-
(tn, npnGg ywwumpwuwnmniip unynpuwljul wtfulnmnghwiny wlhGwn k:

Onptitinwnmpghwiul tnuwlwiny unwgyuwd wpuquhwn wnnujuwn-
Gtph hhiGwywl wowytympymGl wyl b, np ngpulghg yuupuunwd gqnp-
ohpGtph wipmpjniGp b dwomghynpyniGp 30...40%-ny pwpép E, qwy bl
tlpwnyymd hnyiwd, gnpohph Yuymbnpyniln 1,5...3,5 wlqud puwpan b, pwl
unynpuwjul dtnwnugnpowyul inuwwyny uvunwgywd ynnuuwnGbphln:

Qnpohpwhlnipyjul dt9 Yhpwnynn vh pwlh dwylhpGph dniwon
wpwqwhwwn wynnuuwwmibph phihwlwl pwnunpnipjnilp ptipjwo £ wnjni-
uwy 1.3-nud:

Uyniuwyy 1.3
=
M M
S & C, W, cr, v, 0 "
g b b
£ % % % % % o o
g 5
0,85...0,9
P-J11 5 5...7 3.4 2...2,6 3.4 0,4...0,7
P-J12 0,9...1 8...10 2.3 2...2,6 1...1,5 109...1,3
0.95...1,0
P-J13 5 5,5...6,5138..4411,8..2,245...550,5...0,8
P-J14 1...1,1 5...6 2,8...3,5128...32 | 4...55 [0,5...0,8

dnyquon L Yotjh wpwquhwwnm wynnuuwnbtpl nGhG Gny6 jupipuwuw-
JnGmpjniln: niquon gnpohph twonighymp n Gl wybkih gwonp t, pwl Ynbkih
wnnuwwnhg wuwwnpwunywd gnpdhphln:

Ujn wquwdwnny dnijuon wynnuuwnltphg st wquumpuwumymd hGswtiu
thnpp hwwnniyp niltignn, wjlGutu b wyGuhuh gnpohpGtip, npnlp wfuwmnid
G0 hwupwowjhG pinGywompmGatph mwy ( nwlniwd yuphsGtp L wy6):

Anyuon wynnuuwmibpp hhiGwywlmd Yhpwnymd G wwuwnpgq Junnig-
Juwop nilkgnn qnpohpltinh ywwpwumdwl hwdiwn:
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1.4.2. Lighpjwd wnnujwwmGtp

Qnpohpwhlnipjul dt9 hhiGuwlywlnid oquuugnpoymu bl htwnbjwy 1b-
ghpywd wynnuuwwbtipp® 9XC, XBI', XI'CB®, npnlignid hhdGwlwl jkghpnn
nwpptinl GG dwlqubp, uhihghnuwih Jwpphnp, ppodp, Ynpppudp b JwGw-
nhnuip: Lhghpywo wynnuuwnmbGbph yupdpuwuwyniGnipnilp hwulnd £ dhGsk
250...260°C:

Yupnn gnpohplGph wpmwnpmipjub dke [highpjwd wnnujuwGbphg
wikwnwpwoyuwop 9XC dwlyGhyh ynnuuwnb k. wyl qwy dfuymd k, hn-
Jwgynid jninh dhg, huly dfuntihg hwdwnpyw sh nhinpiwgynud: Ujn wuwwmdw-
nny 9XC ynnuuul oqumugnpdynid L wjluhuh qnpohpltnh yuwwmpwuwnm-
dwl hwdwn, npnlp dfunidhg htimn st6 hnyynud: Leqhpdwo wmwpptph wn-
JuynipyniGp L JupphnlGtph hwjwuwpwswih pwtunudp Guwunnd GG
JupipwyuwjniGnipjul pupdpugiwin: Uujuii 9XC ynnuuwwnb niGh Gul
dh pwpp pipmpnGGtp’ gwop dywytijhnipyniG, wofuwolGwgpyiwl hwlinby
pwnpdp qquynilnipynil, pnnGywo yhdwynid pwpdp unponpnipyniG:

XBI' dwlyGpoh ynnuuun quy Eotipdwdiywlynd L hwlywo t jupph-
nujhl gulgh untinodw(: Ujn wnnuuwh vt dwlqubh dko pwlwynipjwl
wnluwynpinilp thnppuglnd £ obipdwdywliwl dwdwluwy swjwwjhl nh-
bnpdwghwtpp, L djudwl GGpwpygwod qnpohph swithtpl wju nhwpnid
twywG thnthnfunipniGGtp skG Ypnd: 9XC L XBIN ynnuuwGhph thnfuwptG
Juptih £ Yhpwet] XTCB® dwyGhyh ynnuwwup: @powpnnnidhg htimn Gpu
JuponnipyntGG wytiih thnpp b, hul wotnwdGuqpyniip wybih phy, pwli 9XC
wnnuuwwnhlp:

Lughpywo wynnuuwGtph dwyGhywynpndp wmwpptp GpypGipnid niGh
wnwnppbp GQuGuyniGn:

UUU : Lun UUL-h uvnwlnupnh (ighpywo wynnuuwnbtph dwyGhpw-
ynpiwl dwdwlwly oquuuwagnpoynd GG wnwnwjihl wpumwhwjmnmpniGitp’
(P, L, V, Al wyl) Lywjiwluywb pyujhl GruiuyniGhp (1, 2, 3 L wy6):

Qhpdwipw: Cun Gipdwlhwih wqquyhl vnwlnupunh, (hghpjuwo
wnnuuwuh dwlylihph wpnwhwjmmpjul uyqpenid ppy t, np6 wpmwhw jjumnid
E wojuwoGh ywpniGwlynipjwl nnynuh hwpnipuwywwmhyp, wyw tghpnn
wmwpptph phihwlwl updyniGtpp, wyn wwpptph wwpniGuynipyniGG pun
npuilig pywpyiw@: Gph jighpnn wwpptiph pwGwlyp sh gpuquiignud 5%-p,
www Gpw npnpdwl hwdwp (kghpnn mwpph mnynuwjhG ywpniGwynipjne-
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Gn puqiwwwwyymd £ 1/4-ny" Cr, Mn, Ni, Si, Co, W, 1/10-nJ" Al, Be, Cu,
Mo, Nb, Ta, Ti, V, Zr, Pb, B . 1/100-ny’ P, S, C, Cl mwpptph hwiwp:

Gpt (tiqhpnn mwpptiph pwlwyp ghpuqubigmu £ 5%-p, dwyGhph uyqpnid
X munl £, wjGnihtnl' pytp, npnlp gniyg GG mwhu wouwoGh wwnpntGw-
Unipjniln’ pwqiuwwyuwunywo 100-ny, www' (tighpnn wmmwpptiph phvhwlw
uhdyn)Gtpp, wwyw pytp pun gpuig hwunwgh yupntGwlinipjul:

OnphGwy 105Cr4 gnpohpwjhlG wnnwuww, npp wwpniGuwymd £ 1,05%
wotuwohG L 1% ppnd:

1.4.3. UoluwoGughG wnnuuwmbGhp

UotuwoGwyhlG ynnuuwnbtph guwon fupnn hwnynipjniGGbph yuwwmdw-
nny gnpohpltiph yuwunpwumdwl hwiwp ngpulp d60 mwpwond suG qunby:
<{hiGwlwlnd oqumugnpoynd GG YI10A, V11A, V12A, V13A vwlyGhyGtph
wynnuuwwubtpp, npnGg JupipuwyuwymGnipjnGp hwuGmd £ dpGsk 200°C,
uwluwji oquuuqnpoty wju gnpohpwlynipp Yupiwl owlp wwjiwabpmu
hGwpwynp st Uyu ynnuuwwbtph wnwybingpyniGG w)yl t, np mwp L uwnp
Jhdwnud npuGp juy GG dpwyynid: Swonp dfubijhmpjwl wumhdwln pnyp L
nwihu unwlw] dwonighy dhonmyny qnpohp, npp 2wwm Juplnp £ hwp-
Jwoltpny wpuwwmbin dwdwlwly: Swop Yupnn hwnnipmGGiph wywwn-
Gunny wofuwdlwjhl ynnuuwwumhg yuwwnpwuwynd b6 wjGuwhuh gnpohplbp,
npnlp w2 uwwmnmd &6 yupiwb thnpp wpugmpmGitpny (Gipuupnipuyhs-
Gtp, wpumwwwpnipuyhsGhp, wGgpwynyphsGtp b wy):

Unynuuwy 1.4-md ppqwo L wouwoGwyhG ynnuuwwmbtph dwlylhpwyn-
pnudp mwppbp GpypGtpnod:

UUb: UWohwwolwihG gnpohpwjhG wynnuuwump dwyGhpymd b wmwnny,
wjlnthtnb htimlnd GG pytp, npnbp Gpmu GG npwyh funwipp b ynnuuwwumh

Ungynuwly 1.4.
Nniuwumw b uvu G-tipdw Ghw Guuwnlhw

V9 W1- 8/, W2- 9, - -

Y9A - - -

V10 W1- 94/, W2- 9%/, - SK4
Y10A . C105W1 -

Vil W1-10Y, W5 - SK-3
V11A . C105W1 -

V12 W1-11Y, - SK2
YI12A . - -
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Vi3 - - -
VI3A - - -

dwylh2h wuydwlwlwb swoljughpp: OphGwl W1 - wotuwoGwyhG qnpoh-
pwjhG ynnuuwn, npp WupniGuwynd £ 0,7...1,5% wotuwohG:
1.4.4. Qunon hwdwdnmwopGtin

UtiptGwphlnipjwlG vk Yuwpopn hwdwdnyjwopltinh oquuagnpoiwl
2Gnphhy wpnwnpnnpuulnipyniGl wytjuguy 2...3, Yupiwl wpwqnpniG-
Gtpp 2...4 wlquu (100...200 7pmy): b muppbpnipnii wpuquwhwwnm wnn-
wuwuh, upop hwdwdniywopp yupniGwymd L wytijh pwn Yynpbpwd, mp-
nwl, nwlnw: Pwpdp otpdwwniGnipyniln b dwpwlywjnilnipynilp pw-
guupynid GG Jupop hwiwdnjuwopltipmy hwiwwwwwufuwl Jupphn-
Gtnh wnywjnipjwdp: Gwpop hwiwdnywopltinp, pun hptlg phihwlw
pwnunpnipjwl hGnmd GG

1) dmyppuwdwinpupmuihi BK3, BK3-M, BK4-B, BK6, BK6-OM, BKS,
BK10-M, BK10-OM L wyiG: dnjdpwiwyhl Junpop hwdwéaniuwoph Jupdpuw-
JuyniGnipniGp Juqund £ 800...850°C: K wmwnhg htimn phyp gnyyg L viwhu
Unpwinh wyuwpniGwlnmpjniGp wnnynultpny, mwunwjhl wpnwhwjnnpn-
Gtph GruGwynipyniGp htnlywiG t. O-hwwmnml dwlpwhwwhluwjhG Juqine-
pjnil, M-twGpuwhwwnhlwjhlG JuqunpniG, B-funynpuhwwumhluwjhl Juqini-
pjniG: OphGuly’ BK6-OM nhwh wynnuuwp yupniGwymd £ 6% Ynpwmn, 2%
nwlnwh Jupphn b 92% hwunmly dwipuhwnhyuwihG (OM) juqdnpjul
Unpppwnih upphry:

2) Shuwbum ppuodwlnpupumuhl (Gphlwpphguight)” T5K10, T5K12,
T14K8, T15K6, T30K4, npnGp punugwd GG mhnwGh L npdpwdh fup-
phnGtphg L Ynpwpnhg: OphGuy T15K6 hwdwdniwopp wwpniGuynu k
6% Ynpwwn, 15% whwmwbh Yupphny b 79% ynidpwih Yupphn: Uju hwdw-
dnyuopbtinh otpiwlwynilGnipyniln Juqind k 850...900°C:

3)  Shunwbwunubunun/mppudwlnpuymughl (Enwlpupphnwhl)
TT7K12, TT8K6, TT20K9, npnlp pwnyugwo Gl Yynpbpwdh, mhwmwbh, mw-
wwh JuppphnGtphg L Ynpuwpnhg: OphGuwly TT7K12 hwdiwdnywopp ww-
pniGwymu £ 4% wmhnwGh Yupphn, 3% wnwGunwh yupphn, 12% npwum b
81% ynibpwih Jupphn: Uyu hwdwdnpjuopltiph otpdwlwyniGnipyniln
Juqunud £ 750°C:
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dnibpwdwghG Ywnpop hwdwdnyywopltin odnywod Gl wnhtiqujhl
hwwnlnipjwdp, nph htimbwGpny ynnuuwwmGbtph Gwliwl dwiwlwl qnpohph
wn9lh Ghunp Ypw wnwowlnd k£ thnuhy, ytipghGhu httmlwbpny Guqmu ta
Gpw Yuupnn hwnynmpjmGatpp: <wyh webtny G2guwon’ ynpbpwdwjhl fupop
hwiwdnywopltinp Yhpwnynd GG hpiGwlwlnd pnigh nhivwGhph dywly-
dJwl dwiwlwly: Uyn hudphg witGwmwpwoyuwop BK8 dwylhyh hwiw-
dnJuopl t: BK6M dwllhoh hwiwdnygwopp dyniultphg wwppbpynd L
dwlpwhwwnhlyuwjlnipjudp, pwpdp funnmpjudp b jhpunymd L qbiplupon
pnwotinh, sdwlgnuynn wynnuuwwnbtinh b wy) Gyuptph GQuwydwl hwdwp:

ShunwGwynbpwiwghG Yupop hwdwdniyjwopltiph 9tpiwhwnnpnu-
Julnipjwl gnpowlhgl wytih thnpp t, pwl Ynibpwidwihl Jupop hwiw-
anipwopltphGp: Uyn yuwwdwnny npulp fhpwnynd GG wohuwoGwihl L
1EghpJwo ynnuuwnmGtph yujiwl dudiwlwy:

ShuwlwnwGumwiwynppuwiwjhG yupop hwiwdnipuwopltpp Yhpwn-
ymd 66 wnnuuwt (wyn pynd Gub ndup dywlynn) Gwhiwwyuwmpuun-
Jwopltinh ubwwmw) L jhuwdwpnip dQwynuiGiph dudwlwy:

Gupop hwiwdnmpwoph wjwpyywo dwllhoh plupmpjul dwdiwluy
wlhpwdtipn L Guwnh mGhGw), np Gpw db9 Ynpuwumph (Quwuygnn Gynip)
pwlwynpjul wytjugiwdp dvhowlimd L qnpohpwljniph wipnipjul uwh-
Jw(l pun ondwl, vwyuyl Gugnd GG hwiwanwoph Yupnn hwwnyni-
pjmGGtpp: Onpp pwlwynipjwip Ynpwin wywpniGwyng fupop hwdwaéang-
Jwopltipp Jupbh £ Gpuwpfuwynpt] jhuwdwpnip b dwppwwmw) dpuymiGbph
hwdwp:

Gunpop hwdwdnipjwopltpph Yupnn hwwnynmpynGGipp upugwo &G
npwlg dShghjuw-dtjuwlihyulywl hwwnlimpynGGtphg: Guwpop hwdiwdny-
Jwopltph hhiGwlwl plnipwgptinhg L mbtuwlwpwp Yphnp: Stuwuwpup
2nh pwpépwgnudp hwqbglnd £ hwdwénywoph npuwyh pwpdpwgiwbp:
Gupop hwdwdnjwopltph  opdwhwnnppuywlnipiniip  pwjuwluGha
guon k, L Gpw 9tipdwjhl wnwGdGwhwnympniGatpnG wqnnd GG qnpohph
wuwwupwuniwl wjlyhuph mthlulnnghwlwl gnponnmpyniGGtph Yypw, hGy-
whuhp GG qnopnidp, hnynuip L upnudp: Gwpop hwdwanywopGtpp qquiynid
GG mwpwgdwl L vwnbgdwl Guundwdp: Gwptphg funtuwthbnt hwdwp
wtnp L funtuwtht) npuwlg wpwq mwpwgniihg b uwuntgnithg:

Gunop hwiwdnpjwopltiph wnwybmipynilp Guwb pupdp dwpwlw nilni-
pjmGl L Gupiwl gnuumd 9iptwuwnhdwlh pwpdpugiwl htinmbwlpny
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Jupop hwdiwédnywopp mwpwlmd k, nph wpyyniGpnmd dtowlmd E Gpw
hwpJwowyhG dwonmghynipyniGp: Uyu hwnlynipyniGp hGwpuwynpmipjniG k
nwihu wfuwwnt] yuuipdwl pwupép nkdhdGhpny:

Pwlyupdtp yYnppwih flGwmnmpjul Guuwwwlyny uvnbtnoyty Gl
wnwlg yYnpppwih Jupop hwdwdnwoplbtp’ wignmiwyhl dhwnmwnltph
Yupphnltph, hGywbu Guwb YupphnwGhuphnGtph hhdpny (whuwb, JuwGw-
nhmy, Ghtipphw, mwinw)): Opytu juwwygnn Gnip” wju hwdwdniwop-
Gtph hwiwn oquuugnpoynid E Ghykpuinithpntln: Unwlg ynpbputh fupon

Ungynunuly 1.5.
{wdw- . )
aniJwoph T:C’ I:h’ I\O/IO’ Oonus Outing>
swgpon | ] o U
TH-20 79 16 5 1080 3430
TH-25 74 20 6 1180 3380
TH-30 70 24 7 1270 3330
TH-50 50 37 13 1225 -
KHT16 74 19,5 6,5 1180 -

hwdwdnwopltpnl pptlg plGnipwgptipny hwjwuwpuwgnp 6 TK fudpp
hwiwdnwopltphG: Uwlyw)l wipnipjudp, 9tpiwhwnnppuwlnipjudp
L hupjwowjhl dwonighynipjudp npulp npny swthny qhemd GG unynpw-
Jquwl Yuwpop hwdwdnywopltinhl, hul wnhtghnl thnfuwgptignipyniGp
Wywlynn Gymph httn puwlwbhG guon t:

Unyniuwly 1.6.
Onuuwunwb| UUL Q-tipdwlhw Bwwnlhw Udunphw | Cytinhw
“Ki “Ki “Hertel | “Mitsubishi | “Toshib: “Pl “AB
nna- itsubishi shiba n ;
rocrass | el o ? e | sandvik
metal” Widia” AG” Metal” Tangaloy” Tizit” .
Materiak”
BK3-M K11 THF - HT105T HO3 HO3T WHO05U
BK3 K8 - - - - - WH10
BK6-OM K68 THFM_ KM1 HTi10 H10 HO5T HGF
BK6M K40 ATI10 KMX HTi20T G1F H10T H7F
BK6 K6 THM K20 HTi20 G2F H20T WN20
BK6-B K6T BT10 B10 GTil0 D10 B10T CB17
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BK8 K1 THR - - G3 H25T
BK8-B K95 BT15 B30G GTil5 D20 H40T CP39
BK10 K84 BT25 G20 - D35 B30T CM
BK4-B K3076 GT1H - - - - CT30
BK20 K90 GT40 G40 GTi35 D50 H60T WT60

Unynuuwl 1.5-nd pipjwo G606 wnwg ynpppwidh Jupon hwiwdanipuo-
ph dwyGpoGtph yuqunpnibp L npubg bhghyu-dkfuwlGhjuyuwl hwwnyni-
pjnGGtpn:

BK tudph Jupop hwdiwdniywoph Jwhwgnpowluwl pGnipugnph pwpd-
pwgiwl ninhGtphg dtyp Gpw fupnn dwup ypw mhnwbh yupphnh Gunt-
gnudG t: Gupop hwiwdnjwophg wwwmpwumywod supynn phptinhyGtph
Jpw 5...20 G hwumnipjudp wmhunw6h upphnh wouwympjul nhwypnid
dwytplnypl vnwgymd L wytih upop b dwpwlwynil, npp 3...4 wlquu
pwpdpwglnid £ qnpohph YunilnipyniGp:

Unjniuwly 1.6-nd pipqwo L jupop hwiwdmwopltph dwyGhpGtph
hwitdwwmmpnilp’ puwn tpypltph:

1.4.5. UhGipwjutpudhlyu

UhGtpuwpuytpudhyuwl wynudhGh opuhn b (AlOz): Qunop hwiwéni-
Jwopltph hwitdwwnm' dhGtpwjuytpudhywb nGh dh 2wpp wnwytynipym-
Gop.

1) pwpén otpdwyuwymbnipymG 1100...1200°C, nplG wwwhnymd L ko
Jupopnipjw b ynnuuunGtph dyuynid’ yuuipdwb dho wpwgnipynGatpny,

2) pwndp dwpwyuyniGnipyniG, npp hGupuynpnipyniG £ mwjhu yuwumpuwu-
wmbim pupan swthwjhG yuyniGnipyniG wuqwhnynn qnpohp,

Unymuwly 1.7
Ubpwdhlywjh Gonus St 2tpdwlwnilnipyniip,
JwlGhyp UNw UNw °C
1IM-332 325 5000 1400
BO-13 475 2580 1100
BIII-13 550 - -
B3 600 - 1100
BOK-60 650 2400 1100
BOK-63 675 - -
OHT-20 700 2250 1200
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3) pwpdp pwhwybtmnipynil, PGnphhy qnpohpwlynph vk pwlly Gyniptiph
puguluwynipjul (dwulGwynpuytiu’ Yynpbpuwd) L Gyniph guon wpdtiph:

UhGtpwjuwytpuwihulwb Gyniptipp (hGmd GG Gpynt mbuwlh' opuhnw-
JhG (IM332) L opuhnulwpphnuwjhG (BOK-60, B-3): dtpohG tpynt dwyGhy-
(tph uquh vt dnlnd GG mhnwGh, Yynpppwdh, dnjhpntGh yupphnGbp:

Unynuuwy 1.7-md pipjwo GG qnpohpwjhlG dshGhpwjwlytpwdhuwh Hh-
ghyw-titluwGhyuwywb hwnlnpniGGtpn:

UhGipwjuwybpwihuwjh vt mwnpptin mwpptiph wytjugdiwdp pupdpw-
(nwd £ Gpw npuwyp: Wnuwhuh Gmpbpp Yngdmd G0 Yepdtnmbhn, wyuhGpl
Juquiywo b6 dhGhpupuytpudihyuhg b dknwnGiphg: GtpdtnGipl wnwia-
(Gwhwwnntyy GuGwynpml mGLlG ndquwp Gwybh ynqpuuwwbtph L hwdw-
dniwopltph Yywyiwl dwiwGwly: UhGipupuytpudhywl niGh dh 2wupp
ptinnipyniGGtp. pwjpwydiwl Giuumiwdp guon ghdwnpnpuulnpynl, guop
hwpywowjhl dwonghynipjnil, npnlp qquihnptl Ypdwmmd GG shnwnw-
wluwl dt9 npwlg Yhpwonwip: Uyuwbu, ophGuy I1IM332 dwlGhoh
wipnipjul vwhdwlp, pun ondwd, Yuqunid E dhGsl 350 U7, hull BOK-60
dwyGhphGp' 750 U N

Opuhnuht Ytpwdhywjhg L YepdtnGhphg pugh, (w)GnptG Yhpwngnd
L Gwl Ghwnphnw-opuhnuwjhG Yhpwihyw, ophGwy «ynpunpGhum» dwyGhoh
(unmnuyh Jud wyymuipGh opuhnh L mhwwGh Ghuphnh fpwnGnipn):

Uyl 1.8.
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YGuwnonpnipjnt {wwnhyGtip
Uipnip
Gp i Tounnt h
nL
Nwwpwuwnny | Uwyehy | <picuywa JaR - Shoh
pun
Phpdwd n thnp HRA | Hv | ondwa. pjl swip,
n aips
U
BO-13 ALO; 92 - | 450..5 | 396 1.3
«BHANTC » | BOK-60 | ALOs+TiC 94 - 00 425 1..3
(Dntuwuwnw) 600...6
50
. SN60 | ALOs+ZrO, - 2200 | 600 3,97 2
«eldniuhler |00 | ALOsTiC 2100 | 600 | 428 2
3711 - 5
(QtpiwGhw) e
SN100 | SisN+Y32; . 1700 | 800 3,30 -
ACS ALOs+Zr0, - 1700 | 500 4,00 1,8
«Hertel MC2 | ALOSTIC 2000 425
311 - - > -
(QtpiwGhw) s
HCI SisN, - 1500 | 800 3,30 -
) CC620 | ALOs+ZrO, - 1650 - 427 2.3
«Sandvic
CC650 ALOs+ - 1800 | 400...5 -
Ceramant> | 60 | zrosmio | 912 | 1500 | 00
(Cytinhw) - ’
Sl}N4 -
«Krupp- Widalox | ALO:+ZrO, 1730 | 650 4,12 -
Widia» +
(AbpiwGhw) +TiO
«NCK>» CcX2 ALOs+TiN - - 750 4,15 -
(WUL)

Unjniuwy 1.8-md pipjwo Gl wpnwuwhiwljuwl hwymbh $hpdwbtph
Ynnihg pnnuplynn Yupnn Yhpuwdhyugh hhdGwlw6 dwybhGiph hwnyne-
pjnGGtpn:

1.4.6. tpywnpon qnpohpwjhG Gymptp

Updwuwnp, npytiu gnpohpwljnip, Uto mwpwonid k qubip dbptlGuwphlne-
pjwl vk, L Gpw ogqunuwgnpoiwl pwquywnp mwpbhgunwph dtowlnd k: bp
pymptnwjhG Yuonigwopny wjpiwunp wojuwdlh unnphbhywghwltinhg
utyG t: Uyh hwjynGh dhGapwiGtphg witGuwiuponl t, vwluw)l Gpuw wdipne-
pjnilp Uto sk, nph yuwwmdwnny £ ogquugnpoynid £ juaipdw thnpp ptinGyw-
onipjul nhypmyd: Updwuwnb niGh qowjhG plnuwpdwlyiwl pwuduluGhG
guon qnpowlhg, npp pnyp L mwihu ywwupwuwnt] pwpdp Gunipjudp nhi-
wnwlbp: Updwump otpdwuyniGnipynibp dto k. pGwlwl wjpdwuwnhln
Juquimd k£ 700...750°C, wphtunmwlwl widwuwmplp 600...700°C: 2updwu-
whdwlwjhG Gpqwo wmhpnypmyd wjdwuwmp wynquuwlbph htin hyydwl dw-
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dwlwly ppihwybu Jwnm wlwnhy t, npp Juunwglnd £ Gpw jupnn hwwn-
YnipyniGGtipp L hGwpwynpnipjnil sh mwihu wjl wpyniGuwybn oquawaqnp-
ot ul dtrnwnGtph Gywlydwl dwuiwlwl: Gnpohpltiph wwwmpwunmdwb hw-
dwn oquugnpoynid GG pGuwywl (A) b wphtunmwywl (AC) widwuwmGhpp:
Uphtunwywl puqiwpmptnujhlG widwunph (ACB, ACIIK, APC3) bhqh-
qu-dtfuwihjulwl hwnimpniGGtpn dnn G6 pGwywbhG: Uphtunmwlwi
uhlGptigh dhongny unwgymu GG 6o swihtiph wjdwuwmh shwpmptinGtpn L
pwqiwpyniptinGtn: Unpnbl wpmwnpnipjul dke oquuugnpoynid GG pwjjuu
(ACB) L YyuppnGwnn (ACIIK), npnGg swthtpp (5.7 ddf) pniyyp GG wwihu
wwuwpwuwnb] uphyGtp, pptiqltp b niphp vwjpwynp gnpohplp:

Qnpohpwohlmpyjul vt JwjG YhpwnmpyniG GG qubty pnph funpw-
Gwpnwdl Ghupphnh (KHB) hhdpny uhGptinpy (wphtumwlw) qbpuponp
Gynuptinp, pyniptinuphl gwlgp Gdwl b wjpdwunmh pymptnujhG gwGghd,
JupopnipjniGp pwpdp £ L dnn® wpdwunh Jupopnipjwln, huy obipdwluwjnt-
(nmpyniGp qbpwqulgnd L wpdwunmph otpdwywjnilnipjulp’ Juquting
1500...1600°C: Pnph  funpwlwpnwél Ghuphnh  dLwthnfunipyniGGtphg
unwgywo gnpohpwljyniptinp Ynsymd GG YndwnghwnGtpn: Bnnp wmbtuwlh
Uniynghwmtpp pwdwlymd GG tpynt fudph. wowohG fudph Gyniptiph dbo
pnph fjunpwlwpnwadl Ghuphgh pwlwyp yuqind E 95% L wytih, huy tpy-
pnpn fudph Gyuptph k9 75%, dlGwgwop wwpptp hwybjwbmptp GG
(oppGuy Al,O3): Unwohl fudphl GG wwwlwind tpnp P-p (Yndwyngphw 01),
htpuwlhwup (Yniwnghw 10), ptpnp P-p (Ynuwynghw 02), hudhup: Gpypnpn
fudiph YndwynghwmwjhG Gyniptiph vke (Yndwnghw 05) pnph funpuwlGuwpnuél
Ghuppnh pwlwyp 75% b, dGugwop 25%-n pwdhl L pGlylGnd wyndhGh
opuhnh(:

Pugh GJwo gipupop Gyniptiphg, oqunuagnpoynid GG Gl Yujopwph
Ghwiphnh hhdpny qbpwpop gnpdhpwympbtp’ uphGhn P, npp dGwgwuohg
mwppbpymu £ ynnuuwnGtph, ynGéh hwdwdniwopltph, wyyndhGh dpwy-
Jwl dwdiwlwy wnhtighnG hwyniGhph pugwwnipjudp: Lnp qnpohpw-
Gyniptippg G0 Gl wphtumwlwl Juhymnuyh (vwwbhp), unmwyh b wyp
Gjniptinh thwpyniptinGhpp:

Updwuwnb L gipunpop gnpohpwlmnmpbtphg yuumpwuwnywd qnpohp Gipl
wywhnynud GG dQwydwb shGsl 9-pn Yywihmbnh dpunnipjniG:
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UttuwGhywhwa Sywidw6 hhiGwlyw6 uubdwibnp

QhnwGiph Hulidwl dwiwlwy Gwuuywnpuujuwopn b gnpohpn
wmtnuwihnfuynid G0 dhijwlg Guuniwdp L gnpohpp Gwhiwwywumpwunywo-
ph dtly Juwd dh pwlh dwlibplnypltinhg wwpbn L hwind: Un Gywwnwlh
hwdwp jnipwpwlyynip vkmwnuwhwwn hwunng niGh pwlnn opquiGtp (hy,
tpwyhp, htmmhG Yndn, utinwl L wy)G), npnGg hwnnpnymyd 6 hwuwnngh
plnypny L hpwagnpoynn Hwliwl mtuwlyny ywjdwlwynpjwod 2wpdnid-
Gtip: <wuwnngh pwinn opqubltph (npnlGg wipwgywo GG Wywlynny Gwjuw-
wuwwupwunywdopn b gnpohpp) pwpdnudGhpn (hGnd GG Yupdwl, mbnulw)-
dwl L odwlinuly:

U6 pwpdnudp, nph nhiwypnud dywjynn Gwuwwywmpuumywophg Jupynid
L dtimmwnh npnpwyh 2tpum, L thnthnfuynd £ dpwyynn dwytplngph dup, Yng-
ynud t jupdwl pwupdnd: “bpulp quwynp b odwlnul updmuiGhpl GG:
Guwynp pwpdnuin Jupnn £ b6 wiplnhwwn L pnphwn: Cun plniyyph
Junnn b 1hGh yuunwluwl, wnwoplpug, htnplpwg-wnwenlipug L wyG:
Uwwnnigiwl pwpdnudip GnylGuybu mwppbpynud £ pun mbuwyh b pun plng-
ph: LY. 1.23-nd ppJwo G0 fuwnwwnwjhl dpwliwl nwppbp vubdwlbp’
Gtpphl L wpuwphlG dwytpunyplbph dwydw6, hGywybtu Gulb pwlndwb
dudwlwy:

<n¢ dwpuilh dt9 funiy Jud wlgnnphy wlgptph vnwgiwl wikGwwmuw-
puwoywo tnuGwlyGbphg E qujhynGnudp (GY. 1.24w): GwjhynGiwb shongny
Juptp £ Gub dkowglly Guuwwybu mpjwo wlgph mpuwdwghop (GY. 1.24p):
QwjhynGiwb dwdwlwy gifuwynp Yuupdwb Jupdmuip qujhynGh wyunyymb
E hp wnw(gph pnipop, dwwnnigiwl pwpdnuip” wnwlgph nunnipjudp quj-
1hynGh wnweoplpwg 2wnpdnuip: GwjhynGiwl hwumngh Yypw quyhynbp
yunynd £ L vnwlinmd dwnngdwl pupdnid (S), juwnwwnwjhG hwuwnng-
Gtph Ypw, unynpupwp, yuunymd b (wpuywumpuunygwopp, hul dw-
wnnigiwl pwupdnuip hwnnpynmd E quyhynGhG: Gunpdwl gnpoplGpugp quy-
1hynGiwG dwiwlGwy uyqpnilGpuwylnptl pGpwlnid £ wjlGuybu, hGywtu ppow-
nwdwl dudwlwly, vwlw)l, hwitdwmwpwnp wybh pwupny wuwydwbit-
nnud:
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<nd dwpdlh dt9 wlgp qujhynbtjhu Yupdwl funpmipiniGp uqind L
t = D/2, huy ytpwqujhynGiwG (GY. 1.24p), wligpwwjGdwG (GY. 1.24q) L
wigpwnyiwa (GY. 1.24n) dwiwGwy t = (D-d)/2:

tanly

Sbnu =
w) P
t
——ilq—
N
a QF i 5
4 » . (p ] —
AN \
-
> 1 Vm)]’u nép.
Spuya
Y 1)

LY. 1.23. Gunphsny wwlyiwl ujubiwb
w) 2n9wnwnty, p) Ghpunwpnuy,
q) Gwlwwmwwnw)nu, 1) nwlnnid
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AqhsGbpp pwqiwumuwd dhnwnuiwliwl qnpohpltp tl, npnlp ub-

SR
RN

Q) n)
Uly. 1.24. Uligph dywldwb ufubdwb
w) qujihynGnud, p) Yipwqujhynlnud,
q) wlgpwjwjind, n) wigpwlynynud
wmwnh 2tpnh Yupdwl gqnpoplpwgl hpwgnponid GG dwwnmgiwb pupddw
pwgwliuwynipjul wwjydwlltpnd® Gwhunpy wnwih Guundwdp hwonpn
wwnwih (wjliugdwl juyd pupdpugiwb hwpyhG (GY. 1.25):
Aqhsn, Gwuwwywumpwunywoph (uundwdp Juwwptny hwdplpwg
YupiwG pwpdmy’ V ninnnipjwdp, jnipupwlsjnip wnwdny fupmd k a, 2bpu,
huy wipnnempjuip’ gmiwpwyhG (Xa,) pnnGyuopn Uk nminnnipjudp:
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Uupynn @, 2tpnp swihymd L dwlynn dwitplngphl monuwhwjug nin-
nnipjudp:

Aquwl gnpoplpuwgh wnwldGwhwnynpymG6 wjh £, np jupdwl dwiw-
(wl wnwowgwod wmwtnp sh Junpnn htnwgyt) updwl gninmg, L wyl phy
Ulinud £ nmwptnujhl wynuh dto:

JqhsGtpn (w6 mwpwontd Gl quabty, hhuGwlwlnwd, fun)np uiphwwb L
quiquowjhl wpnunpnipjwl dke' pGnphhy htinlyw) wnwytijnpjniGGtnph.

1) npulp witGwwpumwnpnnuywb Yupnn qnpohpltnhg GG,
2) hGwpwynpnipjniG GG mwhu vnwlwy Guidwl pwpénp Gunnipynd
L Ypwyynn dwytplniyyph dwppnipjniG’ wGuwhn pwGynph npuljuwynpnidhg,

3) hGywtiu wnwGahG upnuiGtph vhol, wjGwybu £ qnudwpuyhG Juyne-

(mpjmlp pwpép b, nph 2Gnphpy dkY dghsny Jupbih © dwlb] puqiwphy

L

4 L A
Z

<!
1

P
<

P

D\

//

Uly. 1.25. 9Qqhsp b wligpwhwwmhsp L npulg wpfuwmwliph uljgpoilipitpn
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(wupwwywwmpwunyuopltp,

4) npwlg wpdtph swthp, npp dnGnd £ Gwuiwyuupuwunywoph wp-
dtiph U9, hwitdwwwpwn thnpp k:

AqhsGtipl oqumuagnpoynid GG Gubl thnpp ubphwiwl wpnuwnpnpjul
dti9, tipp wlhpwdtipwn L wwywhnyty Gyuwydwl pwupdp 6umpniG:

AqhsGtpG wywhnynud GG Wuwldwl pwpdp wpununpnpuyjubnggjm,
sGwjwo wpluwnmy GG Yupdwl gwop 6..10 dpmy wpwqmpynilGtpny:
Muwwndwnl wyl L, np yupiwlp JwuGuwygnn wnwdbtph Yupnn tqpbph qni-
dwpwjhG tpupnpnilp dGo L QghsGtiph puwpén wpnwnpnnuijulnpjniln
pwguwupymd £ Gwbl Gpwlny, np jnipupwlynip dghy niGh ubwwnw), dwp-
puwwnw) b npwdwswhnn wnwdlbn, nph 2Gnphhy UGy gnpoplpwgny Juptijh £
Juuwuwpty vh pwGh wnwGdhG qnpoplpugltin (ulwwnwy, YJhuwdwpnip, dwp-
puwwnwy): Oquugnpdynid GG yuwlydwl tpym tnuwyibp” dgmu L wlgpw-
hwwnmu (GY.1.25):

QAquwl nhiypmud (GY. 1.25w) hwumngh Yupdwl P nidp fhpwnymd L
4qhsh wnswdwup Yypw, b juumwpymu t gnpohph dgmu: Uju nhiyypmyd nbi-
dnpiwghwyh b GGpwpyynid gnpohph hpwlp (wnwowlnmy bl dquwl jw-
npnuiGtip): Uagpwhwwniw( nhypnd (GY. 1.25p) Yuupdwb P nidp hpwnynd k
qnpohph httmh( wpuwwmwlpwjhG dwunid: Ujn phypnid nhbnpiwgymd L
Gpw dnnp (wnwowlnmu GG ubnidwl (upmuGbn):

dJwdwlwlywyhg dtptGwyhlnipjul vk oquuaqnpoynn dqhyGhpp pw-
dwlynmd GG tpynt fudph” GipphG L wpwmwphG dqhsGtp” hwiwwwwmwuuw -
Gwpwp GapphG L wpurwphl dwytplnygplbph Q2uwydwb hwdwn:

bptigipnuip  Yyuwliwl wikGwnuwpwoyuwo tnubwyitphg vkya k: Ut-
phGwphlnpjuwl dt9 oquuagnpoynn thnwnwuipwliwl vwppwynpnidGtinh
nGnhwGnip owyuwih dnn 20%-p Juqund GG pptiqtipuyhl hwuwnngGtpp, huy
dtiptlwphlnipjwl wopwldhl plwquyunltpnd npwlg Yhpwnnipymln
hwulnmu £ dhGsl 60%-h:

dptigh witlwutd wowybtnip niGl wyl £, np hGwpwynp £ dpwyt dlw-
ynp dwybtplnypltipn, nph hwdiwp sh6 ywhwloymd hwwnntyy, pupn hwpdw-
pulpGtn L ng £ pwpép npuwljwynpnid niGtgnn w) fuwwnnn Ghp:

bptgtipnuil hp wbjulnnghwlwl gnponGGtpny, wpmwnpnnuyjwlini-
pjudp, fuGuynnuyuwlnipjudp, wpdtpny b wjy) gmgwlhpGipny wybh pw-
huwjtwn t, pul nwlnmup, 2powmwynidp b Wywldwb djniu dutipp:
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Ul. 1.26. dphgtipdwl mbuwyitpp U $pbigGtph hhiGuwlwl mhwbpp

w) grutiwgh, p) Swlunughl, ¢) b 1) ujufwoewlw;hd,

B) wynuwhw6 L junpuhwumdw, g) U E) dwypuwghl
dbptgbipiwl dwdwlwy qiuwynp Jwupdmip wuniynG £ hp wnwlgph
npon (V jupiwl wpwgnipjudp), hul dwwnnigdwl jwpdndp” S (wnwg-
plipwg Jud yuunmuwyuw() Guuwywunpuunywoph mtnuwihnfunipnilp jud
wunyup: L. 1.26-nd phipdwo GG dptqipdwb tnuwGuwyny dwytplngplibph
Wywliwl wnwppbp vpubdwlbp: AGwjwo dpptqltnh pwqiwqubnpjulp
npwlg wfuwwmwlph uvppbdwl hwiwywunwuppwind L qubw)jhG

(GY. 1.26w) Jud Swlwwmwyhb (GY. 1.26p) $ptqtipiwn:

Gqubwlwl pptigtpdwl nhypmd uwlyniG hpwywlwgymd t pplkgh
quubwlwl dwlitplnyph ypw qulynn wnwilbnnyg, nph wnwlgpnp qniqu-
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L. 1.27. niwb tnubwytpp

htin I dywyynn dwytiplnyphG, huy Swywwmwjhl ptqtipdwl nhypmd pptigh
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UnnujhG dwybtplnyph ypw qulynn wunwdltpny, nph wnwlgpl mnnuhw-
Jug L dpwlynn dwytiplnyphG:

Utnwnuju6 L ny dtnwunqujul Gwuwwywnpuumywoplbph ytpe Gu-
dpwlnuip hnydwl dhongny jwjl YhpwenpinG niGh dbptlGuwphlnipjwb
dtig: Uyl Ghpwnnd E GwhuGwlwl L gytpeGuywl hniwb gqnponnnipyniGatip,
hnGhGgnud, YtpeGuipwynd L wyl: {nyuwl tnuwGwyny Gniph dywyndG
hpwlywlwgynmd t hnupwnptinh, wpiwunwjhl, Epopt b wy hnuwingh-
Gtph shongny:

‘Lwhiwywunpwunywoplbph  duydwl dwiwlwly Yphpwnymd GG
hnuwl htnlyw) tnuGwyGtpp. 1) wpnwphG Ynp hnmd GpyuyGuyh L
wywyh JwumgnuiGhpny  (GY.  1.27w,p), 2) hnynd  funpugniing
(Gy. 1.27q), 3) GupphG hnynud (GY. 1.271), 4) hwpp hnymd (GY. 1.274, q),
5) wGytGupnG wpumwphG hnymy (GY. 1.27t):

bGywtu tiplnd £ pipdwo vjubdwltphg, Gwiwwywnpuwunmywoph pninp
wmtiuwh mtnuihnfuntiGtpp Jupbh b pwdwlby Gptp mpwh.

w) wmbnuhnfunid vjuywnwyh wpuwwmnng dwitplngphG pnpwithnnh
ninnnipjwdp: Ynp hnydwl phiypnmd nuw YhGh wunmdiwb pwnpdnwip, nph
wnpwaqmpnilp Gubwlygmd b Ve, , &ypl: Qupp hnlpdwl nbupnd utnuih
tpYuyGwyh wnuwihnfunuip Vg, &ang wpugnipjudp,

p) mtnuihnfumd Gwhiwywunpwunywoph wnwlgphlG gniquhtin nin-
nnipjwip: Unp hnydwl nypnd wyn mtnuihnfunidp Yngynid £ tpluwyGuyh
dwunngnid (Sg,, Yo/ upun): Lwupp hndwl nhuypmd wm whnuihnfunui@ hpw-
qnpoynd L dwljuwo switplnyyph vk, mnnuhwjwug £V, ,-h ninnmpjulp
L Yngnid E quyGuyh Swnnigmad (S, 4o/ gpl ppugp): SnpoGulwl wuyiwi-
Gtpnud hGgugtiu gy, wjGuitiu by s, JwnmnignudGlipp swthynud GG B puyGnpjuG
swihwpwdhGGtpny,

q) wbnuihnfunid Wwyynn dwybplnyphl mnnuhwjug ninnnipjudp,
pun funpmpjwip: Wyn wbnuihnfunidp GQuGwyynd L s b swhynd Lk
ddlwlignidng Wy dul gply.plpwgpny: Unwlg tplujGuyh b jwjGulh dw-
wnnignudGtinh dpwlydwl nhypmy ¢ -G swihynid b e Guwifu.wpunngjuny:

Lnyuwl hwdwnp Shwinniwbh ponGwopn Gpulwlynd E pun Guiuw-
wwwunpwunywoph tpupnipjul L mpudiwqoh, Guwhulwlwl Yyuwldwl dw-
ytptnyph wwhwGeynn dwppnipjul b Gpunipjul:

Upunwphl funpugnuiny hnuwl nhwypnmd (GY.1.27q) hnupwnpl mGk-
(nmd E YnGwiuwl dwu L wipnng pnnGwopp hwlymd L dty-tpynt tplw;-
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Guwyh wigiwdp’ Gwuwwywwmpwunywoph Wkl wuninh ppugpmy 1...6 dif
Jwunnigdwl ywithny:

‘UtipphG Yinp hniw6 dwdwbwy (GY. 1.271) dywlyynn Guwhiwwguwun-
puwunyuwopn b hnupwpp wunynd GG mwpptp ninnnipyniGtpny: ‘LhpphG
Umnp hnynuiG plpwlmd & wytih owlp wwjiwGlbpnid, pwl wpunwphG
hnyndp: Fw pwgwupynid L hwuwmngh hith thnpp Ynpuumpjudp L nhwyh
Yupdwl gnunp punipwhnyuglnng htnniyh Juwm dwnwjupuwpdwdp:

UpnyniGwpbpmpjwl db9 jwjl Yhpwnnmd niGh hwpp hninuip, nplG hpw-
Jqulwgymud k tpym tnulwyny hnupwph wpnwphl qubulwl dwyb-
nunypny (GY. 1276) L hnupwph GwlwwmwjhG dwytplngpny (GY. 1.27q):

UaytGupnG wpnwphG hnydwl nhypnd (GY. 1.275) 2 Gwuwwywwm-
puunywopn pwg E pnnlGynid 1 U 3 hnupwptiph wpwpny, npp htlGymu k 4
nulwyhG: {nqupunpbtpp b Gwhwyuwunpuunywopp wuwmynd GG mwppbin
ninupjniGtpny: <nynn hnupwnph wpwgmpynilp nwlnn hnupwph hw-
dtdwwn wybih vko t:
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